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£ hERGES [1375 |8 — H W
£ RERGES 1375 |9 — H W
£ hERGES |1375 |10 50 7 * hRFTH 45 6
=5 = RUES 1375 |11 — E
=5 = RUES 1375 |12 — E
=5 hERGES |1375 |13 37 19 * hRFTH 32 7
=5 h=RGES |1376 60 8 # kT H 14 8
=5 h=RGES |1376 53 7 # kT H 18 9
=5 P RGES |1376 36 3 #OPRIETH 31 5
=5 hERGES 1377 |1 31 8 e H T H 26 6
=5 hERGES 1377 |2 31 5 R H T H 26 3
3z = UES 1377 3 31 6 AT H 26 4
3z = UES 1377 |4 31 7 AT H 26 5
W5 = UES 1377 |10 — S
3z = RUES 1378 31 1 AT H 26 1
L3z = RUES 1379 31 2 AT H 26 2
L3z = UESE 1380 |1 29 3 AT H 24 4
£ hERGES [1380 |2 29 10 PRTT H 24 7
=5 hERGES [1380 |3 29 13 PR T H 24 8
L3z =B 1381 |1 29 2 AT H 24 2
=5 = ROES 1381 |2 29 11 PR T T H 24 3
=5 hERGES |1381 |3 29 12 * PRTTH 24 6
=5 =B 1382 29 12 * hRTTH 24 6
=5 = UES 1383 29 1 * hRTTH 24 1
=5 hERGES 1384 |1 29 1 * hRTTH 24 1
£ ERGES [138e |2 — HO
=5 = RGES 1385 |1 23 2 e H T H 23 2
£ =ERGES [138s |2 — HO
=5 = RGES 1385 |3 23 1 * PRTTH 23 1
=5 = ROES 1386 |1 23 1 * PRTTH 23 1
97 = RGES |1386 |2 — HoO
=5 = RES 1386 |3 23 1 * PRTTH 23 1
=5 =B 1387 5 1 * PRITH 13 6
=5 = RUES 1388 1 2 1 * PRITH 15 19
=5 = RGES 1389 |1 22 4 * PRTTH 17 4
=5 = RGES [1389 |2 22 9 R T H 17 14
=5 h=RGES [1389 |3 22 10 Fg T H 17 15
=5 o RGES 1390 |1 22 4 * PRTTH 17 4
=5 o RGES 1390 |2 22 13 PR TET H 17 6
=5 o RGES 1390 |3 22 14 PR TET H 17 7
=5 R RGES 1390 |4 22 15 PR TET H 17 8
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5] iy 4 H & i X - T OHb B B 4 H

X 5 waw | v | x| ok | e T 4 %
9] P RGES 1390 |15 22 16 HRE T H 17
9] P RGES 1390 |6 22 17 HRE T H 17
9] P RGES 1390 |7 22 18 HRE T H 17
W5 = RGES 1390 |8 22 19 FRETH 17
97 PEJGESE |39l 51 2 T H 19
97 = RGES (1392 22 1 # HhRITH 17
97 = RGES (1392 25 1 # HhRITH 18
£ PEJGESE [1393 22 7 * HLFTH 17
W5 PEJGES [1394 22 7 * HLFTH 17
W5 PEJGES [1395 22 7 * HLFTH 17
97 P=JGESE [1396 5 1 * HLFTH 13
£ = RaEs 39T 27 1 R T H 20
£ = RaES 1397 |2 27 9 R T H 20
AL alig 1125 —
AL olig 1126 —
AL olig 1127 —
AL olig 1128 |1 —
AL olig 1129 |1 —
AL olig 1129 |3 —
AL elig 1130 |1 22 11 * FLFTH 17
AL B 1289 |1 22 2 * FRFT A 17
AL B 1289 |2 22 11 * FRFTH 17
AL B 1290 |1 22 2 * FRFT A 17
AL HEF 1290 |2 22 12 FRET H 17
AL B 1291 |1 22 3 * FRFT A 17
AL B 1291 |2 22 3 * FRFT A 17
AL B 1292 |1 22 3 * FRFT A 17
AL B 1292 |3 2 1 5 * FRFT A 14
EiL NP 1292 |4 2 1 2 R T H 14
EiL NP 1292 |5 2 1 5 * FRETH 14
EiL NP 1293 |1 2 1 5 * FRHTH 14
EiL NP 1293 |3 2 1 5 * FRETH 14
BT L 1294 2 1 5 * T TH 14
EiL NP 1295 |1 206 1 ¥ FR=TH 51
BT L 1295 |2 214 1 * e T H 47
EiL NP 1296 |1 2 1 5 * FRETH 14
BT L 1291 | 2 1 5 * fRETH 14
BT L 1306 |1 28 4 * fRETH 21
BT L 1306 |3 28 4 * fRETH 21
BT L 1306 |4 2 1 5 * fRETH 14
EAL N 1306 |6 2 3 1 Fg T H 14
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EiL N EF 1306 |7 2 3 5 * PR TH 14 21
EiL N EF 1306 |8 2 1 5 * PR TH 14 7
EIL T 1307 | 39 5 PR ETH 34 9
EAL N 1307 |3 39 21 FRETH 34 10
EIL NEF 1307 |4 — H K
EAL N 1307 |5 39 20 FRETH 34 7
EAL N 1307 e 39 6 % R TH 34 11
EIL NEF 1307 |7 — H K
EIL NEF 1307 |8 — H K
EIL NEF 1307 |9 — H K
BT N 1307 |10 39 22 PR ETH 34 8
EIL T 1307 |11 39 6 * PRI T H 34 11
AL NP 1307 |12 — H I
EIL T 1308 |1 2 2 2 * PRI T H 14 26
EIL T 1308 |2 2 2 2 * PRI T H 14 26
EiL NEF 1308 |3 2 1 5 * HRATH 14 7
EIL T 1308 |4 2 2 2 * PRI T H 14 26
EiL NEF 1309 |3 37 2 AT H 32 2
AL eig 1310 |2 2 2 7 FRETH 14 29
AL elig 1310 |3 2 2 8 FRETH 14 28
L T 1310 |5 2 2 1 R E T H 14 27
1EFH N 783 1 2 2 2 * FRFTH 14 26
1EFnH 43| 784 2 — U 1
1EFnH = iE 785 2 — MO
1EFnH a)=Si] 785 3 — MO
1EFnH 43| 786 2 — U 1
1EFH N 786 |3 2 1 5 * FRFT A 14 7
1EFH N 787 1 10 1 * FRFT A 12 1
1EFnH )=t 787 |2 10 2 P T H 12 9
LR R 8 787 3 10 11 T B 12 10
BTN )=et] 788 10 1 * PRFT A 12 1
BT =23} 789 1 10 1 * FRETH 12 1
AR R 8 790 1 10 10 T B 12 11
1EFn I\ Sk 988 |2 221 37 ik T H 175 |27
T E I\ Sk 989 |2 221 40 # kT H 175 |24
T E I\ Sk 989 |2 221 39 # kT H 175 |25
EFnm J\SHi 989 2 221 38 # PR TH 175 26
AH i 1 3 194 14 fl—TH 32 9
AH LiiSii 1 4 194 20 * k—TH 32 10
AH LiiSii 1 9 167 15 * k—TH 23 16
FayN =EaN 178 | 196 9 * l—TH 34 16
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“n E5P78 178 196 9 * T H 34 16
“n ESEAS 178 196 23 # HR—TH 34 18
“n ESEAS 178 196 16 # R—TH 34 19
Eas| ESP4S 178 196 10 # fR—TH 34 21
A H BAs+ 179 170 4 * hR—TH 20 5
A H B+ 179 196 12 * hR—TH 34 24
A H B+ 179 164 11 * hR—TH 27 6
A H B+ 180 170 4 * hR—TH 20 5
Eas| ESP4S 181 168 6 hg—TH 22 5
£HH B4k 181 — H K
Eas| B4k 181 196 8 hg—TH 34 15
AH B+ 183 195 5 * fR—TH 33 15
AH B+ 184 195 5 * fR—TH 33 15
AH B+ 185 195 5 * fR—TH 33 15
AH B+ 186 153 1 fl—TH 11 1
AH B+ 186 195 7 # PR—TH 33 3
AH B+ 186 195 14 # PR—TH 33 4
AH B+ 186 162 3 * fR—TH 30 3
s Ba4+ 186 — H I
AH B+ 188 193 7 * fR—TH 31 5
gays| EoPAS 189 193 7 * fi—TH 31 5
gays| EoPAS 190 193 7 * fk—TH 31 5
gy Bt 190 — H
gy Bas+ 191 2 1 5 * PRILTH 14 7
s Bas+ 191 2 1 5 * PRILTH 14 7
gy RS+ 191 2 1 5 * PRILTH 14 7
gays| EoPAN 192 195 6 fk—TH 33 2
s Bas+ 192 2 1 5 * PRILTH 14 7
7yl 5548 192 2 1 5 * AT H 14 7
gags| 5PN 193 167 17 * fk—TH 23 18
gags| 5PN 193 167 17 * fk—TH 23 18
gags| 5PN 193 167 17 * fk—TH 23 18
AH EoPAN 193 166 7 fk—TH 24 11
gags| 5PN 193 166 9 * fk—TH 24 13
A Bt 193 202 18 =T H 43 16
7yl 5548 193 202 21 * ik =T H 43 13
AH EoPAN 193 166 8 fk—TH 24 12
gags| 5PN 193 166 9 * fk—TH 24 13
gags| 5PN 194 193 7 * fk—TH 31 5
AH EoPAN 195 190 7 FRTTH 37 10
7w B4 195 2 1 5 * PR F T H 14 7
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s 195 |3 194 13 * thge—TH 32 8
A 195 4 167 15 * ik —TH 23 16
FaY 196 |1 202 21 * e ZTH 43 13
Fags| 196 |2 202 21 * R ZTH 43 13
Fags| 196 |3 166 9 * hge—TH 24 13
Fags| 196 |4 202 21 * e ZTH 43 13
Fags| 196 |5 166 10 fl—TH 24 14
s 197 1 194 13 * H—TH 32 8
AH 197 |2 2 1 5 * HLFTH 14 7
£HH 197 3 194 13 * H—TH 32 8
Fags| 198 1 194 1 * hde—TH 32 1
s 198 3 194 20 * H—TH 32 10
s 198 4 — H I
s 199 1 194 16 hde—TH 32 13
s 199 2 194 15 hde—TH 32 14
s 199 3 194 18 hd—TH 32 11
s 199 4 194 19 hd—TH 32 12
AH 200 1 2 1 5 * FFTH 14 7
AH 200 |2 1 2 1 * FLFTH 15 19
s 200 3 165 4 hd—TH 25 4
o] 204 7 — H I
Zags it 439 1 162 1 * k—TH 30 1
o] it 439 |3 — H I
o] it 439 |4 — H I
Zags it 440 1 162 1 * k—TH 30 1
o] it 440 |2 — H I
Zags it 441 1 162 2 fe—TH 30 2
o] it 441 3 — H I
ags it 445 1 194 8 h—TH 32 4
AH it 445 |3 218 1 F =T H 158
AN it 446 1 193 2 * hk—TH 31 2
AN it 446 2 193 2 * hk—TH 31 2
AN it 446 3 193 4 * hk—TH 31 3
AN it 446 4 193 4 * hk—TH 31 3
AN it 447 2 1 5 * FRETH 14 7
ags it 448 194 12 h—TH 32 7
gaas| LiiSii 452 1 51 3 * RpuT H 19 3
AN LitSii 452 2 170 4 * k—TH 20 5
AN LiiSii 452 3 2 1 5 * FRHTH 14 7
“ st 452 |4 — H W
A LitSii 453 1 2 1 5 * FRHTH 14 7
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A LS} 456 2 5 * HRTTH 14 7

A i 456 2 5 * HRTTH 14 7

A R 456 — H K
B M3 456 — MW
s i 457 195 5 * H—TH 33 15

s fRim 457 — H K
s fRim 463 164 11 * H—TH 27 6

B M3 463 — MW
B M3 464 196 2 —TH 34 2

B M3 464 — MW
HH i 465 196 12 * H—TH 34 24

s it 465 196 11 hde—TH 34 23

s it 465 196 12 * Hk—TH 34 24

s it 466 194 11 * Hk—TH 32 6

AH it 466 2 5 * FFTH 14 7

s it 466 194 11 * Hik—TH 32 6

s it 466 — H I
AH I\t 470 169 8 hd—TH 21 10

AH I\t 470 169 7 hd—TH 21 9

AH I\t 471 169 9 hd—TH 21 11

o] I\ 471 — H W
Zags I\ 472 168 1 * k—TH 22 1

o] I\ 472 2 2 * FRFT A 14 26

o] I\ 473 206 1 * F=TH 51 1

Zags I\ 474 209 1 * k—TH 39

Zagn I\ 475 211 1 * k—TH 37

o] I\ 476 167 5 fe—TH 23 5

o] I\ 477 110 2 FR=TH 3 2

AH I\l 477 110 2 TR=TH 3 14

AH I\l 477 110 13 TR=TH 3 2

AH I\l 477 110 14 TR=TH 3 13

AH I\l 478 169 3 h—TH 21 5

AN J\SHi 478 172 8 * hk—TH 18 12

AH I\l 479 151 19 F =T H 15 10

Fayn I\ Sk 479 2 2 * T TH 14 26

AH I\l 479 — H W
AN I\ 479 169 1 fl—TH 21 1

AN I\ 479 167 11 fl—TH 23 13

FayN I\ b 479 151 6 * ik T H 15 7

gaas| ISRl 479 — H W
AN I\ 479 151 20 # R TH 15 9
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A I\t 479 |8 151 14 #PRZTH 15 12
A I\ 480 1 169 2 * le—TH 21 4
A I\t 480 |2 169 13 fR—TH 21 2
AH I\ 480 |3 169 12 h—TH 21 3
s I\ 481 1 169 2 * He—TH 21 4
A H I\ 481 3 — H K
B J\HiE 482 |1 162 3 * thge—TH 30 3
B J\HE 483 |1 163 3 * thge—TH 26 3
AH I\ 483 |3 — H K
B J\HE 484 |1 163 3 * thge—TH 26 3
AH I\ 484 |2 163 5 h—TH 26 4
AH I\t 485 1 170 3 hde—TH 20 3
AH I\t 485 |3 170 2 hde—TH 20 2
AH I\t 485 |4 — H I
AH I\t 485 |5 — H I
AH I\t 485 |6 170 5 hd—TH 20 4
AH I\t 486 1 — H I
AH I\t 486 |2 166 13 hd—TH 24 15
A I\ L% 486 3 — H I
AH I\t 486 |4 151 25 EE S = 15 8
o] I\ 486 |5 — H I
o] I\ 486 |6 151 13 T H 15 11
o] I\ 486 7 — H I
o] I\ 486 |8 151 6 * hRZTH 15 7
o] I\ 486 |9 — H I
o] I\ 486 10 151 18 T H 15 22
o] I\ 487 1 166 3 fe—TH 24 7
Zags I\ 487 2 52 1 * U T H 21 1
AH I\l 488 167 8 h—TH 23 10
AH I\l 489 1 167 4 h—TH 23 4
AH I\l 489 |2 — H W
A0 J\SHi 489 3 162 3 * hk—TH 30 3
AH ISRl 490 170 1 # hk—TH 20 1
AH I\l 490 162 7 # hk—TH 30 12
AH I\l 490 162 12 # hR—TH 30 13
AH I\l 490 162 13 # hR—TH 30 14
AN I\ 491 167 9 fl—TH 23 11
AN I\ 492 1 166 2 fl—TH 24 6
FayN I\ it 492 |2 162 3 * hge—TH 30 3
FayN I\ it 493 |1 162 3 * hge—TH 30 3
FayN I\ it 493 |2 2 2 * fRETH 14 26
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Faas| I\t 493 |3 149 9 e =T H 16 12
FaY I\t 494 163 2 * thge—TH 26 2
FaY I\t 495 163 2 * thge—TH 26 2
Fags| I\t 496 |1 162 3 * hge—TH 30 3
A H I\ 496 |3 — H K
s I\ 497 1 162 3 * H—TH 30 3
Fags| I\t 497 |2 162 3 * thge—TH 30 3
Fags| I\t 497 |3 162 3 * thge—TH 30 3
Fags| I\t 498 |1 162 3 * thge—TH 30 3
Fags| I\t 498 |2 172 |2 8 * thge—TH 18 12
HH I\ 498 3 162 5 * H—TH 30 5
s I\ 499 1 162 5 * H—TH 30 5
zagm I\ L% 499 2 — H I
s I\ 499 3 162 10 * Hk—TH 30 10
s I\ 499 4 162 10 * Hik—TH 30 10
AH I\t 499 |5 162 8 hd—TH 30 7
AH I\t 499 |6 162 6 # hR—TH 30 8
AH I\t 499 |6 162 9 # hR—TH 30 9
AH I\t 499 |6 162 11 # hR—TH 30 11
AH I\t 499 |7 162 14 hd—TH 30 6
Zags I\ 500 1 167 2 * k—TH 23 2
Zags I\ 500 2 167 2 * k—TH 23 2
o] I\ 500 |3 167 3 fe—TH 23 3
o] I\ 500 |4 — H W
Zags I\ 500 5 167 2 * k—TH 23 2
o] I\ 500 |6 2 2 2 * FRFT A 14 26
o] I\ 500 7 2 2 2 * FRFT A 14 26
o] I\ 500 |8 2 2 2 * FRFT A 14 26
Fayn I\ Sk 500 |9 2 2 2 * T TH 14 26
AH I\l 501 1 — H W
AH I\l 501 2 188 |1 10 F =T H 25 3
AN J\SHi 501 3 166 14 * hk—TH 24 3
AN J\SHi 501 4 166 14 * hk—TH 24 3
AH I\l 501 5 165 1 h—TH 25 1
AN J\SHi 501 6 165 5 * hk—TH 25 7
AN J\SHi 501 7 165 5 * hk—TH 25 7
AN I\ 501 8 75 18 T B 4 22
AN I\ 501 9 75 17 T B 4 21
FayN I\ b 501 10 167 1 * l—TH 23 1
FayN I\ b 501 11 167 1 * l—TH 23 1
AN I\ 502 1 164 1 fl—TH 27 1
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&N I\ 502 |2 162 3 * thge—TH 30 3

A I\t 502 |3 164 12 fR—TH 27 10

A I\t 503 1 164 2 fR—TH 27 2

AH I\ 503 |2 — H K
B J\HiE 503 |3 162 3 * hge—TH 30 3

A H I\ 504 1 160 8 h—TH 28 5

AH I\ 504 |2 160 25 h—TH 28 6

s I\ 505 1 160 7 * H—TH 28 7

£HH I\ 505 2 160 7 * H—TH 28 7

£HH I\ 506 1 209 1 * H—TH 39

HH I\ 506 2 127 2 * H—TH 2 3

AH I\t 506 |3 160 11 hde—TH 28 18

zagm I\ L% 506 4 211 1 * Hk—TH 37

AH I\t 506 |5 212 1 # hR—TH 36 1

AH I\t 506 |5 212 3 # hR—TH 36 4

AN I\ L% 506 6 211 1 * Hik—TH 37

zagm I\ L% 506 7 127 2 * Hik—TH 2 3

AH I\t 507 1 160 12 # hR—TH 28 10

AH I\t 507 1 160 14 # hR—TH 28 19

AH I\t 507 1 160 22 # hR—TH 28 20

o] I\ 507 1 160 23 # hR—TH 28 21

o] I\ 507 1 160 20 # hR—TH 28 22

o] I\ 507 1 160 24 # hR—TH 28 23

o] I\ 507 1 160 15 # hR—TH 28 24

o] I\ 507 |3 160 17 # hR—TH 28 11

o] I\ 507 |3 160 18 # hR—TH 28 12

o] I\ 507 |3 160 19 # hR—TH 28 13

o] I\ 507 |3 160 21 # hR—TH 28 14

AH I\l 507 |3 160 13 # hR—TH 28 15

Fayn I\ 507 |4 2 2 2 * T TH 14 26

Fayn I\ 507 |5 2 2 2 * T TH 14 26

AH I\l 508 161 3 h—TH 29 3

A0 J\SHi 509 1 161 2 * hk—TH 29 2

A0 J\SHi 509 2 161 2 * hk—TH 29 2

AH I\l 510 161 1 # hk—TH 29 1

AH I\l 510 162 4 # hk—TH 30 4

FayN I\ it 511 214 1 % iR =T H 47

AN I\ hi 514 10 — H I
gaas| I\ 518 |2 — H I
AN LG2 678 1 156 |2 3 * k—TH 14 3

A H BFATC 678 |3 — H W
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A g 679 156 |2 3 * le—TH 14 3

A g 680 156 |2 3 * le—TH 14 3

Zaas| LG 681 155 7 fR—TH 13 8

AH LG 682 155 16 h—TH 13 9

s LG 683 154 2 * H—TH 12 2

s LG 684 154 2 * H—TH 12 2

s LG 685 1 154 1 * H—TH 12 1

AH L5z 685 |2 166 4 h—TH 24 8

AH L5z 685 |3 166 5 h—TH 24 9

£HH LG 685 4 165 8 * H—TH 25 10

AH LG 685 |5 — H K
AH 52 685 |6 — H I
AH 52 685 |7 — H I
AH 52 685 |8 — H I
s g 686 1 154 1 * Hik—TH 12 1

s g 686 2 165 8 * Hik—TH 25 10

AH 52 686 |3 — H I
AH 52 686 |4 — H I
s g 686 5 165 8 * Hik—TH 25 10

AH 52 686 |6 — H I
o] 52 686 |7 — H I
Zags BpAC 687 1 167 7 * k—TH 23 7

Zagn BpAC 687 2 167 7 * k—TH 23 7

o] 52 687 |3 167 14 fe—TH 23 9

o] 52 687 |4 167 18 fe—TH 23 8

Zagn BpAC 688 1 134 |2 1 * k—TH 8 1

Zags BpAC 688 2 134 |2 10 * k—TH 8 2

Zags BpAC 689 1 134 |2 2 * k—TH 8 3

AN BPATC 689 2 134 |2 1 * hk—TH 8 1

AN BPATC 689 3 134 |2 1 * hk—TH 8 1

AN BPATC 690 1 134 |2 10 * hk—TH 8 2

AH ESZi 690 |2 78 12 T B 3 6

AH ESZi 690 |3 — H W
AN BPATC 690 4 134 |2 2 * hk—TH 8 3

AH ESZi 691 1 155 1 h—TH 13 1

AH ESZi 691 2 — H W
A H 52 692 1 155 2 fl—TH 13 2

A H 52 692 |2 — H W
A H 52 693 1 155 3 fl—TH 13 3

AN BFATC 693 2 156 |2 3 * k—TH 14 3

A H 52 694 |1 155 4 fl—TH 13 4
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A g 694 156 |2 3 * le—TH 14 3

A g 695 156 |2 3 * le—TH 14 3

A g 695 156 |2 3 * le—TH 14 3

£HH LG 695 156 |2 3 * H—TH 14 3

s LG 696 156 |2 3 * H—TH 14 3

s LG 697 156 |2 2 * H—TH 14 2

AH LG 698 155 5 h—TH 13 5

B B 698 — MW
£HH LG 698 156 |2 3 * H—TH 14 3

AH L5z 699 159 2 h—TH 17 2

AH 52 700 155 10 h—TH 13 12

AH 52 701 155 11 hde—TH 13 13

s Lsg 702 156 |2 3 * Hk—TH 14 3

s Log 703 156 |2 3 * Hk—TH 14 3

s g 704 156 |2 3 * Hik—TH 14 3

s g 705 156 |2 3 * Hik—TH 14 3

s g 706 156 |2 3 * Hik—TH 14 3

s g 707 156 |2 3 * Hik—TH 14 3

AH 52 708 155 9 hd—TH 13 11

s g 708 156 |2 3 * Hik—TH 14 3

Zags BpAC 709 156 |2 3 * k—TH 14 3

Zags BpAC 710 156 |2 3 * k—TH 14 3

o] 52 711 155 14 fe—TH 13 16

Zags BpAC 711 156 |2 3 * k—TH 14 3

o] 52 712 155 15 fe—TH 13 17

Zagn BpAC 712 156 |2 3 * k—TH 14 3

o] 52 713 159 14 fe—TH 17 6

o] 52 714 157 3 fe—TH 15 3

AH ESZi 715 157 11 h—TH 15 4

AN BPATC 716 134 |2 4 * hk—TH 8 5

AH ESZi 716 213 1 h—TH 35

AN BPATC 717 156 |2 3 * hk—TH 14 3

AH ESZi 718 168 3 h—TH 22 3

AN BPATC 719 134 |2 3 * hk—TH 8 4

AN BPATC 720 134 |2 3 * hk—TH 8 4

AH ESZi 721 153 3 h—TH 11 3

A H 52 721 — H W
AN BFATC 722 157 5 * k—TH 15 6

gaas| L52 723 157 5 * k—TH 15 6

A H 52 724 — H W
AN BFATC 724 131 5 * k—TH 7 5
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A g 724 3 131 5 * ik —TH 7 5
A g 724 4 131 5 * ik —TH 7 5
A g 724 5 157 8 * ik —TH 15 8
£HH LG 724 6 157 9 * H—TH 15 9
s LG 724 7 131 5 * H—TH 7 5
s LG 724 8 157 9 * H—TH 15 9
s LG 724 9 157 8 * H—TH 15 8
s LG 725 1 156 |2 3 * H—TH 14 3
£HH LG 725 2 156 |2 2 * H—TH 14 2
£HH LG 726 134 |2 4 * H—TH 8 5
HH LG 727 1 156 |2 3 * H—TH 14 3
AH 52 727 |2 154 9 hde—TH 12 10
s Lsg 728 157 2 * Hk—TH 15 2
s Log 729 157 2 * Hk—TH 15 2
AH 52 730 155 13 hde—TH 13 15
s g 731 134 |2 4 * Hik—TH 8 5
AH 52 732 134 |2 5 hd—TH 8 6
s g 733 159 1 * Hik—TH 17 1
s g 734 159 1 * Hik—TH 17 1
s g 735 157 10 * Hik—TH 15 10
Zags BpAC 736 157 10 * k—TH 15 10
Zags BpAC 737 134 |2 3 * k—TH 8 4
o] 52 738 157 7 fe—TH 15 7
Zags BpAC 739 156 |2 3 * k—TH 14 3
Zags BpAC 740 158 3 * k—TH 16 3
Zagn BpAC 741 158 3 * k—TH 16 3
Zayn| [EXas 804 1 212 2 # hk—TH 36 2
Zayn| L 804 1 212 4 # hk—TH 36 3
AN AL 804 1 212 5 # hk—TH 36 5
AN AL 804 1 212 6 # hk—TH 36 6
AN AL 804 1 212 7 # hk—TH 36 7
AN AL 804 1 212 8 # hk—TH 36 8
gaas| & B 805 10 9 P T H 12 8
AH AL 806 1 194 7 * hk—TH 32 3
AH g 806 2 211 1 * hk—TH 37

AN BPATC 953 3 221 1 * hk—TH 155 1
AN BFATC 954 6 221 1 * k—TH 155 1
AN BFATC 955 1 156 |2 3 * k—TH 14 3
AN BFATC 955 2 221 2 * k—TH 155 37
A H 52 956 1 102 13 FR=TH 9 13
A H 52 956 |2 221 6 fl—TH 155 |33
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gy LG 956 |3 102 15 FR=TH 9 15
Zoys| LG 956 |4 102 8 FR=TH 9 8
Zaas| LG 956 |5 — H K
AH L5z 957 |2 221 5 # hR—TH 155 |34
A H 52 957 |2 221 4 # hR—TH 155 |35
A H 52 957 |2 221 3 # hR—TH 155 |36
s LG 959 2 221 2 * H—TH 155 37
AH EHm 1007 |1 190 8 R TTH 37 11
£HH el 1007 |2 167 15 * H—TH 23 16
Fags| L F 1) 1007 |3 — MW
HH k- 1A 1008 |1 194 1 * H—TH 32 1
s S| 1008 |3 78 10 gy H 3 8
s S| 1008 |5 — H I
s S| 1093 |2 221 12 * Hk—TH 155 29
s S| 1094 |2 221 12 * Hik—TH 155 29
s S| 1095 |1 133 1 * Hik—TH 10 1
s S| 1095 |2 221 9 # h—TH 155 6
s S| 1095 |2 221 8 # Hh—TH 155 31
s S| 1095 |2 221 7 # Hhk—TH 155 32
s S| 1096 |1 — H I
Zags M 1096 |3 221 12 * k—TH 155 29
Zags M 1097 |2 221 12 * k—TH 155 29
Zagn M 1104 |2 221 12 * k—TH 155 29
Zags M 1106 |2 221 12 * k—TH 155 29
Zags M 1107 |1 133 1 * k—TH 10 1
Zagn L H o7 |2 221 10 # hk—TH 155 7
Zags L H o7 |2 221 11 # hk—TH 155 30
Zags M 1108 |1 221 12 * k—TH 155 29
ags L Hm 1108 |4 221 13 # hk—TH 155 28
ags L Hm 1108 |4 221 14 # hk—TH 155 42
ags L Hm 1109 |2 221 17 # hk—TH 155 27
ags L Hm 1109 |2 221 15 # hk—TH 155 43
ags L Hm 1109 |2 221 16 # hk—TH 155 44
AN HiA 1w | 221 21 * hk—TH 155 10
AN HiA 1w |2 221 21 * hk—TH 155 10
ags L Hm i 221 22 # hk—TH 155 11
AH LM i 221 23 # Hh—TH 155 25
FayN T 1 |2 221 24 * l—TH 155 |24
AH LM 1z |2 221 19 # Hh—TH 155 8
AH LM 1z |2 221 20 # Hh—TH 155 9
AH LM 1z |2 221 18 # Hh—TH 155 26
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B0 GEBEARsy) [k 314 133 |1 1 * he—TH 10 1
B0 GEBEARsy) [k 315 |1 133 |1 1 * he—TH 10 1
B0 GEBEARsy) [ 315 ]2 221 35 # hk—TH 155 16
B0 GEBEARsy) [ 315 ]2 221 34 # hk—TH 155 |50
B0 GEBEARsy) [ 315 |2 221 36 #PRZTH 175 1
AR GEBEARsy) [ 316 |2 221 12 * he—TH 155 |29
AR GEBEARsy) [ 317 ]2 221 12 * hfe—TH 155 |29
A RENE IR 102 3 — H K
& RIS 120 |1 95 2 5 * PR=TH 33 8
& RIS 120 |2 95 2 5 * PR=TH 33 8
B BRI 121 |1 72 11 gy T H 30 11
& TN 121 |2 95 2 5 * =T H 33 8
& TN 122 |1 89 2 fR=TH 29 2
& EIRIEON 122 |2 95 2 5 * =T H 33 8
& EIIEON 123 |1 89 3 fR=TH 29 3
& EIRIEON 123 |2 88 3 * =T H 28 3
& PRI 124 1 88 1 * =T H 28 1
& EIRIEON 124 |2 95 2 5 * =T H 33 8
& EIRIEON 125 |1 87 3 fR=TH 27 3
& EIIEON 125 |2 87 2 fR=TH 27 2
2Ll PRI 125 |3 — H W
2Ll PRI 126 |1 88 2 hR=TH 28 2
2Ll ERIEON 126 |2 1 2 1 * PRILTH 15 19
2Ll ERIEON 126 |3 88 3 * fR=TH 28 3
2Ll PRI 127 |1 83 3 hR=TH 23 4
2Ll ERIEON 127 |2 86 3 hR=TH 25 3
2Ll ERIEON 128 83 2 * fR=TH 23 3
2Ll PRI 129 83 2 * fR=TH 23 3
& BrmIR 130 82 4 * PR=TH 24 5
& BrmIR 131 83 2 * PR=TH 23 3
& BrmIR 132 83 2 * PR=TH 23 3
& BrmIR 133 83 1 hR=TH 23 1
& BrmIR 134 84 1 # PR=TH 22 1
& BrmIR 134 83 4 # PR=TH 23 2
& BrmIR 134 87 4 # PR=TH 27 4
& BrmIR 135 82 5 hR=TH 24 6
B BrmI 136 86 1 * PR=TH 25 1
B BrmI 137 86 1 * PR=TH 25 1
B BrmI 138 86 1 * PR=TH 25 1
B BrmI 139 86 2 FR=TH 25 2
B BrmI 140 86 1 * PR=TH 25 1
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3] 4 i & oK - m oM ¢ IR 2 H

X 5 s | w | x| o | m Wy 4 7%
& AR TEUN 141 86 1 * hR=TH 25
o R TN 142 87 1 * hR=TH 27
o R TEUN 143 87 1 * hR=TH 27
& RIS 144 87 1 * PR=TH 27
& RIS 145 87 1 * PR=TH 27
& RIS 146 87 1 * PR=TH 27
& RIS 147 87 1 * PR=TH 27
& RIS 148 87 1 * PR=TH 27
& RIS 149 87 1 * PR=TH 27
& RIS 150 |1 88 1 * PR=TH 28
& RIS 150 |2 88 4 * PR=TH 28
& TN 150 |3 88 3 * PR=TH 28
& TN 151 88 4 * PR=TH 28
& EIRIEON 154 1 2 1 * PRITH 15
& EIIEON 155 89 5 # PR=TH 29
& EIRIEON 155 125 17 # PR=TH 16
& PRI 156 95 2 5 * =T H 33
& EIRIEON 157 89 4 * PR=TH 29
& EIRIEON 158 |1 89 4 * PR=TH 29
& EIIEON 158 |2 1 2 1 * PRITH 15
2Ll PRI 158 |3 —
2Ll PRI 158 |4 89 8 hR=TH 29
2Ll brfi@ 159 |1 14 |1 6 hR=TH 37
2Ll brfi@ 159 |2 —
2Ll brfi@ 159 |3 91 1 * fR=TH 32
2Ll brfi@ 159 4 14 |1 2 hR=TH 37
2Ll brfi@ 159 |5 —
2Ll brfi@ 159 |6 14 |1 3 hR=TH 37
& Erfim 159 |7 14 |1 4 hR=TH 37
& Erfim 159 |8 14 |1 5 hR=TH 37
L b 160 |1 91 1 * P =TH 32
& Erfim 160 |2 —
& Erfim 161 1 148 1 F =T H 12
& Erfim 161 |2 —
& Erfim 61 |3 148 14 F =T H 12
& Erfim 162 |1 89 1 hR=TH 29
B ErhiE 162 |2 —
B ErhiE 162 |3 91 7 FR=TH 32
B ErhiE 162 |4 91 6 FR=TH 32
A ErhiE 162 |5 —
%= ErhiE 163 |1 91 5 FR=TH 32
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* 1% B fF #
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5] iy 4 H & i X - T OHb B B 4 H &

X 5 wa | w [ e | owe | me T 4 wa | # "
B T 290 1 129 3 fR—TH 4 3
B T s 290 |2 303 1 * hR—TH 105
B T 290 |4 — MW
B T 291 1 — MW
A T 291 2 303 1 * hl—TH 105
A T 291 3 125 8 FR=TH 16 11
A T 291 4 125 10 FR=TH 16 13
A T 291 5 125 9 FR=TH 16 12
A T 292 99 9 FR=TH 14 11
A T 293 1 130 |1 7 * hl—TH 5 9
A T 293 |2 186 1 T H 24 1
A T 293 3 156 |2 3 * H—TH 14 3
o =R E 345 174 |2 1 * hR_TH 28 12
A =RE 346 174 |2 1 * hR_TH 28 12
A =Rk 347 174 |2 1 * hR_TH 28 12
o =R E 348 174 |2 1 * hR_TH 28 12
A =R E 349 174 |2 1 * hR_TH 28 12
A =Rk 350 174 |2 1 * hR_TH 28 12
o =RE 351 174 |2 1 * hR_TH 28 12
o =R E 352 174 |2 1 * hR_TH 28 12
Hrf =RE 353 174 |2 1 * hRZTH 28 12
Hrf =RE 354 1 130 |1 15 fde—TH 5 16
Hrf =RE 354 |2 156 |2 3 * hle—TH 14 3
Hrf =RE 355 1 131 11 fe—TH 7 13
Hrf =RE 355 |2 156 |2 3 * hle—TH 14 3
Hrf =RE 355 |3 131 16 fe—TH 7 14
Hrf =RE 356 1 131 8 * hle—TH 7 10
Hrf =RE 356 |2 131 8 * hle—TH 7 10
ol =R E 357 131 9 * hk—TH 7 11
ol =R E 358 1 156 |2 3 * hk—TH 14 3
ol =R E 358 2 156 |2 3 * hk—TH 14 3
A =RE 359 1 102 10 TR=TH 9 10
A =RE 359 |2 102 12 TR=TH 9 12
ol =R E 359 3 130 |1 7 * hk—TH 5 9
by =RE 359 4 — WO
A =RE 359 |5 102 11 TR=TH 9 11
ol =R E 360 131 9 * k—TH 7 11
ol =R E 361 131 9 * k—TH 7 11
A =R E 362 1 146 7 Fl =T H 10 9
A =R E 362 |2 146 4 # R TH 10 5
A =R E 362 |2 146 12 # R TH 10 6




BTt & R R

5] iy 4 H & i X - T OHb B B 4 H

X 5 wa | w [ e | owe | me T 4 %
B =RE 362 |2 146 6 #PRZTH 10
B =R E 362 |3 102 16 * PRETH 9
B =R E 362 |4 146 8 * hR_TH 10
B =RE 362 5 130 |1 6 * H—TH 5
A =R E 362 |6 130 |1 6 * hl—TH 5
B =R E 362 |7 102 16 * L =TH 9
A =R E 362 |8 146 8 * hR_TH 10
A =R E 362 |9 130 |1 6 * hl—TH 5
B =RE 362 10 130 |1 6 * H—TH 5
A =R E 363 131 3 * hl—TH 7
A =R E 364 131 3 * hR—TH 7
A =R E 365 131 7 * h—TH 7
o =R E 366 1 100 3 * L =TH 15
A =RE 366 |2 84 2 * F=TH 22
A =R E 366 |3 100 3 * L =TH 15
o =R E 366 |4 84 4 * L =TH 22
A =R E 366 |5 131 7 * h—TH 7
A =R E 366 |6 100 3 * L =TH 15
o =RE 366 7 131 7 * h—TH 7
o =R E 366 |8 84 2 * L =TH 22
Hrf =RE 366 |9 84 4 * F=TH 22
Hrf =RE 366 10 84 4 * F=TH 22
Hrf =RE 366 11 84 2 * F=TH 22
Hrf =RE 366 12 131 7 * hle—TH 7
Hrf =RE 366 13 131 7 * hle—TH 7
Hrf =RE 366 14 131 7 * hle—TH 7
Hrf =RE 367 1 130 |1 18 fe—TH 5
Hrf =RE 367 |2 156 |2 3 * hle—TH 14
ol =R E 368 1 156 |2 3 * hk—TH 14
ol =R E 368 2 156 |2 3 * hk—TH 14
A =RE 369 131 12 h—TH 7
A =RE 370 1 130 |1 19 h—TH 5
ol =R E 370 2 156 |2 2 * hk—TH 14
ol =R E 370 3 156 |2 3 * hk—TH 14
ol =R E 371 156 |2 3 * hk—TH 14
ol =R E 372 129 6 * hk—TH 4
A =R E 373 133 |1 2 fl—TH 10
ol =R E 374 156 |2 3 * k—TH 14
A =R E 375 131 1 fl—TH 7
ol =R E 376 133 |1 4 * k—TH 10
ol =R E 377 133 |1 4 * k—TH 10
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X 5 wa | w [ e | owe | me T 4 wa | # "

B =R E 378 133 |1 4 * hR—TH 10 4
B =R E 379 133 |1 4 * hR—TH 10 4
B =RE 380 1 131 13 fR—TH 7 16
A =RE 380 |2 131 14 h—TH 7 17
A =R E 381 156 |2 3 * hl—TH 14 3
A =R E 382 156 |2 2 * hl—TH 14 2
A =RE 383 131 15 h—TH 7 18
A =R E 384 131 3 * hl—TH 7 3
A =R E 385 131 3 * hl—TH 7 3
A =R E 386 1 129 23 * hl—TH 4 24
A =R E 386 |2 156 |2 3 * hR—TH 14 3
A =R E 387 1 131 6 * h—TH 7 6
o =R E 387 |2 129 2 * h—TH 4 2

A =RE 387 I3 — H I
A =R E 387 |4 130 |1 3 * h—TH 5 3
o =R E 388 1 131 6 * h—TH 7 6
A =R E 388 |2 129 2 * h—TH 4 2

A =R E 388 |3 — H I
o =RE 388 |4 130 |1 3 * h—TH 5 3
o =R E 389 131 4 * h—TH 7 4
Hrf =RE 390 131 4 * hle—TH 7 4
Hrf =RE 391 129 21 * he—TH 4 22
Hrf =RE 392 133 | 3 * hle—TH 10 3
Hrf =RE 393 133 | 3 * hle—TH 10 3
Hrf =RE 394 133 | 3 * hle—TH 10 3
Hrf =RE 395 1 167 13 fe—TH 23 15
Hrf =RE 395 |2 156 |2 3 * hle—TH 14 3
Hrf =RE 396 154 5 * hle—TH 12 5
ol =R E 397 154 5 * hk—TH 12 5
A =R E 398 |1 123 1 * fR=TH 48 1
A =R E 398 |2 117 1 * fR=TH 40 1
ol =R E 398 3 154 7 * hk—TH 12 7
ol =R E 398 4 154 7 * hk—TH 12 7
A =R E 399 117 1 * fR=TH 40 1
A =R E 400 |1 117 1 * fR=TH 40 1
A =RE 400 |2 104 1 TR=TH 8 1
A =R E 401 1 110 3 FR=TH 3 9
B =R E 401 |2 95 2 5 * hR=TH 33 8
B =R E 402 5 1 * fRETH 13 6
B =R E 403 1 1 5 * hR=TH 1 5
B =R E 404 123 1 * hR=TH 48 1
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& ZRE 405 154 6 ik —TH 12 6
o =ZRE 406 156 3 * he—TH 14 3
o =ZRE 407 156 3 * he—TH 14 3
& =R E 408 |1 111 6 hR=TH 2 5
B =RE 408 |2 — I
& =R E 408 |3 111 7 hR=TH 2 6
B =RE 408 |4 — A
& =R E 409 |1 105 1 hR=TH 7 1
B =RE 409 |2 — A
B =RE 409 |3 — A
B =RE 409 |4 — I
& =R E 409 |5 105 5 fR=TH 7 6
& =RE 409 |6 108 5 fR=TH 6 5
& =R E 409 |7 105 6 fR=TH 7 4
& =R E 409 |8 108 6 fR=TH 6 6
& =R E 409 |9 105 4 * PR=TH 7 5
& =R E 409 |10 105 4 * PR=TH 7 5
& =R E 409 |11 105 4 * PR=TH 7 5
& =R E 409 |12 105 4 * PR=TH 7 5
& =R E 409 |13 105 4 * PR=TH 7 5
2Ll =R E 410 |1 112 11 hR=TH 4 17
2Ll =R E 410 |2 112 10 hR=TH 4 16
2Ll =R E 410 |3 — H W
2Ll =R E 410 |4 112 17 * fR=TH 4 15
2Ll =R E 410 |5 112 17 * fR=TH 4 15
2Ll =R E 411 1 — H W
2Ll =R E 411 ]2 — H W
2Ll =R E 411 |3 — H W
s =R E a1 |4 108 1 * P =TH 6 1
& =RE 411 |5 106 2 hR=TH 11 2
s =R E 411 |6 108 2 * P =TH 6 2
s =R E a1 |7 109 5 * P =TH 5 4
s =R E a1 |8 109 2 * P =TH 5 2
A =RE 412 1 — W
by =RE 412 2 — WO
by =RE 412 3 — WO
B =R E 412 |4 108 1 * PR =TH 6 1
B =R E 412 |5 108 2 * PR =TH 6 2
B =R E 412 |6 109 9 FR=TH 5 8
B =R E a2 |7 108 1 * PR =TH 6 1
B =R E 412 |8 107 5 FR=TH 12 5




BTt & R R

* 1% B fF #
#ix o1 &
R T T K - B CU )
X 5 wa | w [ e | owe | me nr wa | # " ’
B =RE 412 |9 109 1 FR=TH 5 1
B =R E 412 10 151 11 * hR_TH 15 23
B =R E 412 11 109 2 * PRETH 5 2
A =RE 412 12 106 4 FR=TH 11 4
A =RE 412 13 109 6 FR=TH 5 5
A =R E 412 14 109 5 * L =TH 5 4
A =R E 412 15 151 11 * hR_TH 15 23
A =RE 413 154 4 h—TH 12 4
A =RE 414 1 154 3 h—TH 12 3
A =RE 414 |2 154 11 h—TH 12 9
A =RE 415 115 3 FR=TH 38 8
A =R E 416 1 136 9 EE S = 1 3
o =R E 416 |2 136 8 * hR_TH 1 2
A =RE 416 |3 136 8 * hR_TH 1 2
A =R E 416 |4 136 8 * hR_TH 1 2
o =R E 416 |5 136 8 * hR_TH 1 2
A =R E 416 |6 136 8 * hR_TH 1 2
A =R E 417 1 |2 8 * L =TH 2 7
o =RE 418 110 5 FR=TH 3 4
o =R E 419 103 1 FR=TH 10 1
Hrf =RE 420 JRRE 4 # HhR=TH 1 4
Hrf =RE 420 97 4 # HhR=TH 16 4
Hrf =RE 421 97 2 2 FR=TH 18 2
Hrf =RE 422 JRRE 3 FR=TH 1 3
Hrf =RE 423 95 2 5 * F=TH 33 8
Hrf =RE 424 1 97 2 FR=TH 16 2
Hrf =RE 424 |2 97 2 3 FR=TH 18 3
Hrf =RE 425 1 2 1 * FRFT A 15 19
A =R E 426 |1 112 16 * fR=TH 4 10
ol =R E 426 2 52 1 1 * e puT A 21 1
A =R E 427 112 16 * fR=TH 4 10
A =R E 428 1 |2 8 * fR=TH 2 7
A =R E 429 |1 101 9 * fR=TH 13 9
A =R E 429 |2 101 9 * fR=TH 13 9
A =RE 429 |3 104 2 TR=TH 8 2
A =RE 429 |4 84 7 TR=TH 22 8
A =R E 429 |5 104 8 FR=TH 8 10
A =R E 429 |6 202 10 Fl =T H 43 11
A =R E 429 7 103 6 FR=TH 10 6
A =R E 429 |8 103 7 FR=TH 10 7
A =R E 429 |9 103 2 FR=TH 10 2
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& ZRE 429 |10 103 3 fRETH 10

o ZRE 429 11 103 4 fRETH 10

o ZRE 429 |12 103 5 fRETH 10

B =RE 129 |13 — R
B =RE 429 |14 — I
ol =RE 429 15 — H W
B =RE 429 |16 — A
ol =RE 429 17 — H W
B =RE 129 |18 — A
B =RE 429 |19 — A
B =RE 429 |20 — I
& =R E 429 |21 — H W
& =RE 429 |22 — H W
& =R E 429 |23 — H W
& =R E 429 |24 — H W
& =R E 429 |25 — H W
& =R E 430 |1 111 5 * PR=TH 1

& =R E 430 |2 — H W
& =R E 430 |3 102 6 * PR=TH 9

& =R E 430 |4 102 6 * PR=TH 9

2Ll =R E 431 1 107 7 * fR=TH 12

2Ll =R E 431 |2 — H W
2Ll =R E 431 |3 — H W
2Ll =R E 431 |4 — H W
2Ll =R E 431 |5 107 7 * fR=TH 12

2Ll =R E 431 |6 — H W
2Ll =R E 431 7 107 8 * fR=TH 12

2Ll =R E 431 |8 106 5 hR=TH 11

& =RE 431 |9 106 8 hR=TH 11

& =RE 431 10 107 4 hR=TH 12

& =RE 431 11 84 5 hR=TH 22

s =R E 431 |12 107 8 * P =TH 12

& =RE 431 13 107 9 hR=TH 12

& =RE 431 14 106 9 hR=TH 11

& =RE 431 15 107 1 hR=TH 12

& =RE 431 16 107 2 hR=TH 12

B =R E 431 |17 302 1 * PR =TH 145

B =R E 432 |1 112 4 * PR =TH 4

B =R E 432 |2 — H B
B =R E 432 |3 112 4 * PR =TH 4

B =R E 432 |4 302 1 * PR =TH 145
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B =R E 432 |5 2 2 2 * PRAETH 14 26
B =R E 433 1 95 2 5 * PRETH 33 8
B =R E 433 |2 302 1 * PRETH 145 1
A =RE 434 1 112 5 FR=TH 4 6
A =R E 434 |2 302 1 * L =TH 145 1
A =R E 434 |3 95 2 5 * L =TH 33 8
A =RE 435 1 112 6 FR=TH 4 7
A =R E 435 |2 302 1 * L =TH 145 1
A =R E 436 123 1 * L =TH 48 1
A =R E 437 112 7 * L =TH 4 8
A =R E 438 95 2 5 * L =TH 33 8
A =R E 439 102 7 # HhR=TH 9 7
o =R E 439 103 9 # HhR=TH 10 9
A =RE 440 95 2 5 * F=TH 33 8
A =R E 441 100 1 FR=TH 15 1
o =R E 442 112 7 * L =TH 4 8
A =R E 443 112 7 * L =TH 4 8
A =R E 444 1 98 5 FR=TH 17 9
o =RE 444 |2 98 9 FR=TH 17 7
o =R E 444 |3 98 10 FR=TH 17 8
Hrf =RE 445 98 1 FR=TH 17 1
Hrf =RE 446 1 100 2 FR=TH 15 2
Hrf =RE 446 |2 100 5 * F=TH 15 5
Hrf =RE 446 |3 100 5 * F=TH 15 5
Hrf =RE 447 1 98 4 FR=TH 17 4
Hrf =RE 447 |2 112 8 FR=TH 4 9
Hrf =RE 447 |3 98 7 FR=TH 17 5
Hrf =RE 447 |4 98 8 FR=TH 17 6
A =R E 448 97 1 * fR=TH 16 1
A =R E 449 |1 97 6 * fR=TH 16 7
A =R E 449 |2 302 1 * fR=TH 145 |
A =R E 450 |1 97 6 * fR=TH 16 7
A =R E 450 |2 302 1 * fR=TH 145 |
A =R E 450 |3 97 6 * fR=TH 16 7
A =R E 451 1 81 6 * fR=TH 20 7
A =R E 451 |2 302 1 * fR=TH 145 |
B =R E 451 |3 97 6 * hR=TH 16 7
B =R E 452 |1 81 6 * hR=TH 20 7
B =R E 452 |2 302 1 * hR=TH 145 |
A =R E 453 1 8 4 Fg T H 6 4
A =R E 453 |2 91 10 FR=TH 32 12
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& ZRE 453 |3 112 3 fRETH 4 4
o =ZRE 453 |4 302 1 * hR=TH 145 |1
o ZRE 453 |5 112 2 fRETH 4 3
& =R E 453 |6 91 13 hR=TH 32 11
& =RE 454 1 164 8 fR—TH 27 7
& =RE 454 ]2 81 5 * PR=TH 20 6
A =Rk 454 3 — H B
& =RE 454 |4 302 1 * PR=TH 145 |1
& =RE 454 |5 81 7 hR=TH 20 8
& =RE 455 |2 302 1 * PR=TH 145 |1
& =RE 456 |1 81 4 # PR=TH 20 5
& =R E 456 |1 80 4 # PR=TH 21 5
& =RE 456 |1 82 2 # PR=TH 24 2
& =R E 456 |2 — H W
& =R E 457 |1 97 6 * PR=TH 16 7
& =R E 457 ]2 — H W
& =R E 457 |3 302 1 * PR=TH 145 1
& =R E 457 |4 80 6 fR=TH 21 7
& =R E 458 |1 97 6 * PR=TH 16 7
& =R E 458 |2 — H W
2Ll =R E 458 |3 302 1 * fR=TH 145 1
2Ll =R E 459 |1 97 5 # PR=TH 16 6
2Ll =R E 459 |1 80 5 # PR=TH 21 6
2Ll =R E 459 |2 — H W
2Ll =R E 460 97 1 * fR=TH 16 1
2Ll =R E 461 1 97 1 * fR=TH 16 1
2Ll =R E 461 |2 — H W
2Ll =R E 462 78 8 kT H 3 12
& =RE 463 |1 97 3 # PR=TH 16 3
& =RE 463 |1 98 3 # PR=TH 17 3
& =RE 463 |2 80 3 # PR=TH 21 3
& =RE 463 |2 78 9 # oPRMTH 3 13
s =R E 463 |3 81 1 * P =TH 20 3
A =RE 463 4 — W
s =R E 464 98 2 * P =TH 17 2
s =R E 465 |1 98 2 * P =TH 17 2
B =R E 465 |2 — H W
B =R E 466 98 2 * PR =TH 17 2
B =R E 467 |1 96 1 FR=TH 19 1
B =R E 467 |2 19 2 * PR F T H 2 2
B =R E 467 |3 97 2 1 FR=TH 18 1
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& ZRE 467 |4 97 11 fRETH 16
o =ZRE 468 |1 96 2 * hR=TH 19
o =ZRE 468 |2 96 2 * hR=TH 19
& =R E 469 81 8 hR=TH 20
& =RE 471 1 96 2 * PR=TH 19
& =RE 471 ]2 301 1 * PRILTH 136
& =RE 472 |1 96 2 * PR=TH 19
& =RE 472 |3 302 1 * PR=TH 145
& =RE 475 |1 96 2 * PR=TH 19
& =RE 475 |4 301 1 * PRILTH 136
& =RE 475 |5 96 2 * PR=TH 19
& =R E 476 |1 80 8 * PR=TH 21
& =RE 476 |3 302 1 * PR=TH 145
& =R E 477 1 97 6 * PR=TH 16
& =R E 477 ]2 302 1 * PR=TH 145
& =R E 477 |3 80 8 * PR=TH 21
& =R E 4718 |1 302 1 * PR=TH 145
& =R E 478 |3 — H W
& =R E 479 |1 81 6 * PR=TH 20
& =R E 479 |3 302 1 * PR=TH 145
2Ll =R E 479 |4 81 6 * fR=TH 20
2Ll =R E 480 80 8 * fR=TH 21
2Ll =R E 481 1 81 6 * fR=TH 20
2Ll =R E 481 |2 81 6 * fR=TH 20
2Ll =R E 481 |3 81 6 * fR=TH 20
2Ll =R E 481 |4 81 6 * fR=TH 20
2Ll =R E 482 |2 — H W
2Ll =R E 483 |1 81 5 * fR=TH 20
s =R E 484 82 3 * P =TH 24
s =R E 485 82 3 * P =TH 24
A =RE 486 1 — W
s =R E 486 |2 82 7 * P =TH 24
s =R E 486 |3 82 4 * P =TH 24
s =R E 486 |4 82 8 * P =TH 24
s =R E 487 80 2 * P =TH 21
s =R E 488 80 2 * P =TH 21
B =R E 489 81 1 * PR =TH 20
B =R E 490 81 1 * PR =TH 20
B =R E 491 |1 82 8 * PR =TH 24
B =R E 491 |2 — H W
B =R E 491 |3 82 7 * PR =TH 24
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& =RE 492 95 2 5 * hR=TH 33 8

o =ZRE 493 |1 81 1 * hR=TH 20 3

o =ZRE 493 |2 2 2 2 * RATH 14 26

& =RE 493 |3 301 1 * PRILTH 136

& =RE 494 |1 81 2 * PR=TH 20 1

& =RE 494 |2 301 1 * PRILTH 136

B =RE 494 |3 — A
B =RE 494 |4 — A
& =RE 494 |5 50 7 * PRILTH 45 6

& =RE 494 |6 50 7 * PRILTH 45 6

& =RE 495 |1 81 2 * PR=TH 20 1

& =R E 495 |2 20 5 * PRITH 1 7

& =RE 495 |3 301 1 * PRILTH 136

& =R E 495 |4 301 1 * PRITH 136

& =R E 495 |5 20 5 * PRILTH 1 7

& =R E 495 |6 — H W
& =R E 495 |7 50 7 * PRITH 45 6

& =R E 496 |1 20 5 * PRITH 1 7

& =R E 496 |2 301 1 * PRITH 136

& =R E 497 |1 20 10 * PRITH 1 12

2Ll =R E 497 |2 20 10 * PRILTH 1 12

2Ll =R E 497 |3 12 8 AT H 11 5

2Ll =R E 497 |4 — H W
2Ll =R E 497 |5 76 3 * T H 5 4

2Ll =R E 498 |1 76 3 * T H 5 4

2Ll =R E 498 |2 — H W
2Ll =R E 498 |3 13 7 AT H 9 9

2Ll =R E 499 |1 20 7 AT H 1 9

A =RE 499 2 — W
& =RE 499 |3 20 6 R T H 1 8

A =RE 499 4 — W
& =RE 499 |5 20 8 R T H 1 10

i Gerfihoy) [#IFE M 6 2 14 2 * PRITH 4 2

i Gerfihoy) [#IFE M 6 3 14 2 * PRITH 4 2

i Gofihsy) [#IFE M 6 4 14 2 * PRITH 4 2

A Gerihsy) I 8 4 5 1 * PRFT A 13 6

i Gorfilhoy) [#IFE 8 5 209 1 * fk—TH 39

i Gorfilhoy) [#IFE 9 3 5 1 * PRITH 13 6

i Gorfilhoy) [#IFE 11 3 5 1 * PRITH 13 6

i Gorfilhoy) [#IFE 11 4 5 1 * PRITH 13 6

i Gorfilhoy) [#IFE 11 5 18 8 R T H 3 12
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A Goifilhsy) [#FHEm 14 3 5 1 * URFET H 13 6
A Goifidhsy) [#Em 14 4 5 1 * URFET H 13 6
B Geimighgy) [ 14 5 18 3 PRI H 3 8
b Goifihsy) [ M 14 6 77 4 # RN H 1 3
B Geilidhgy) [ 14 6 18 4 # hRITH 3 9
B Geiidhgy) [ 14 6 18 4 PRI TH 3 9
Arh Geiidhgy) [ 14 84 18 13 PRI TH 3 10
B Geilidhgy) [ 14 85 18 14 PRI H 3 13
Arh Geilidhgy) [ 14 86 18 21 PRI T H 3 23
A Geilidhgy) [ 14 87 18 22 PRI H 3 24
B Geiidhgy) [ 14 88 18 23 PRI TH 3 18
A Gerihsy) [HEIEE 14 89 18 24 AT H 3 17
A Gerihsy) [HIEsE 14 83 77 4 T H 1 3
A Gerihsy) [HEIEE 14 7 18 5 AT H 3 10
A Gerihsy) [HEIEE 14 7 18 5 AT H 3 14
A Gerihsy) IR 14 90 18 15 AT H 3 15
A Gerihsy) [HIEE 14 91 18 16 AT H 3 16
A Gerihsy) [HIEE 14 92 18 17 AT H 3 19
A Gerihsy) [HIEE 14 93 18 18 AT H 3 20
A Gerihsy) [HEIEE 14 94 18 19 AT H 3 21
i Geridhsy) IR 14 95 18 20 AT H 3 22
i Geridhsy) IR 14 8 19 3 PRI H 2 3
i Geridhsy) IR 14 9 19 1 ORI H 2 1
i Gerihsy) IR 14 75 19 2 * HRITH 2 2
i Geidhsy) |#IHE R 14 79 5 1 * PRILTH 13 6
B Geridhsy) IR 36 98 6 * fR=TH 17 10
i Gerihsy) IR 37 98 6 * fR=TH 17 10
¥ifn—TH 1 174 |2 1 % T H 28 12
#fn—TH 2 — H W
#fn—TH 3 — H W
#fn—TH 4 — H W
#fn—TH 5 — H W
#F—TH 6 174 |2 1 * P T TH 28 12
#F—TH 7 174 |2 1 * P T TH 28 12
#F—TH 8 174 |2 1 * P T TH 28 12
#F—TH 9 174 |2 1 * P T TH 28 12
#—TH 10 174 |2 1 % T H 28 12
#—TH 11 174 |2 1 % T H 28 12
#—TH 12 174 |2 1 % T H 28 12
#—TH 13 174 |2 1 % T H 28 12
#—TH 14 174 |2 1 % T H 28 12
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HA—TH 15 174 |2 1 * T H 28 12
HA—TH 16 — SEE 4
HA—TH 17 174 |2 1 * T H 28 12
HF—TH 18 174 |2 1 * T H 28 12
HF—TH 19 174 |2 1 * T H 28 12
HF—TH 20 174 |2 1 * T H 28 12
HF—TH 21 174 |2 1 * T H 28 12
HF—TH 22 174 |2 1 * T H 28 12
HF—TH 23 174 |2 1 * T H 28 12
HF—TH 24 174 |2 1 * T H 28 12
HF—TH 25 174 |2 1 * T H 28 12
FrFn—TH 26 174 |2 1 % i T H 28 12
FrFn—TH 27 174 |2 1 % i T H 28 12
FrFn—TH 28 — H
FrFn—TH 29 — H W
FrFn—TH 30 — MW
FrFn—TH 31 — MW
FrFn—TH 32 140 1 FRTTH 4 1
#in—TH 32 130 |2 1 Hk—TH 6 1
FrFn—TH 32 140 3 FRTTH 4 3
¥iFn—TH 32 130 |1 11 fk—TH 5 13
¥iFn—TH 33 129 16 * ide—TH 4 17
¥iFn—TH 33 129 16 * ide—TH 4 17
¥iFn—TH 34 134 |2 7 * ide—TH 8 8
¥ifn—TH 34 129 16 * ide—TH 4 17
¥ifn—TH 35 156 |2 3 * ide—TH 14 3
¥iFn—TH 36 156 |2 3 * ide—TH 14 3
¥ifn—TH 37 129 9 % hi—TH 4 9
#F—TH 37 129 11 * fk—TH 4 11
#F—TH 37 129 9 * fk—TH 4 9
#F—TH 38 129 9 * fk—TH 4 9
#F—TH 38 129 11 * fk—TH 4 11
#F—TH 38 129 9 * fk—TH 4 9
#F—TH 39 — S
#F—TH 41 129 8 * fk—TH 4 8
#F—TH 42 129 8 * fk—TH 4 8
#rn—TH 43 136 3 * PR TTH 1 5
#rn—TH 43 136 3 * PR TTH 1 5
#F—TH 43 156 |2 3 * fk—TH 14 3
#F—TH 44 141 6 k=T H 5 17
#F—TH 44 181 1 k=T H 18 1
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HA—TH 44 3 139 4 =T H 7 4
HA—TH 44 4 138 9 * T H 8 19
HA—TH 44 5 139 5 =T H 7 5
HF—TH 44 6 139 11 =T H 7 9
HF—TH 44 7 139 15 =T H 7 15
HF—TH 44 8 139 10 R TTH 7 12
HF—TH 44 9 139 13 R TTH 7 13
HF—TH 44 10 139 14 =T H 7 14
HF—TH 44 11 139 1 =T H 7 1
HF—TH 44 12 139 2 =T H 7 2
HF—TH 44 13 139 7 =T H 7 7
FrFn—TH 44 14 139 8 ik T H 7 8
FrFn—TH 44 15 139 9 FRTTH 7 11
FrFn—TH 44 16 178 4 ik T H 33 4
FrFn—TH 44 17 139 3 ik T H 7 3
Hfn—TH 44 18 138 14 k=T H 8 17
#m—TH 44 19 139 16 hRTTH 7 17
#m—TH 44 20 139 18 hRTTH 7 19
FrFn—TH 44 21 136 7 FRTTH 1 11
#in—TH 44 22 — NER
¥iFn—TH 44 23 — ER
¥iFn—TH 44 24 — ER
¥iFn—TH 44 25 — ER
¥iFn—TH 44 26 — ER
¥ifn—TH 44 27 — ER
¥ifn—TH 44 28 — ER
¥iFn—TH 44 29 — ER
¥ifn—TH 44 30 — ER
#F—TH 44 31 — SER
#F—TH 44 32 — SE
#F—TH 44 33 — SER
#F—TH 44 34 — SER
#fn—TH 44 35 — B
#F—TH 44 36 — SER
#F—TH 44 37 — SE
#F—TH 44 38 — SE
Hfn—TH 44 39 — mo
Hfn—TH 44 40 — mo
Hfn—TH 44 41 — mo
Hfn—TH 44 42 — mo
Hfn—TH 44 43 — mo
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HA—TH 44 44 — H W
HA—TH 45 130 |2 2 ik —TH 6 2

BrFn—TH 46 — H K
HF—TH 47 3 — H W
BrFn—TH 48 3 — H K
HF—TH 49 3 — H W
HF—TH 50 130 |1 9 fR—TH 5 11

HF—TH 51 1 130 |1 8 fR—TH 5 10

HF—TH 51 2 156 |2 3 * he—TH 14 3

HF—TH 52 1 129 7 * hk—TH 4 7

HF—TH 52 2 156 |2 3 * hf—TH 14 3

FrFn—TH 53 1 129 7 % ige—TH 4 7

FrFn—TH 54 1 129 7 % fige—TH 4 7

FrFn—TH 55 2 129 7 % fige—TH 4 7

FrFn—TH 58 2 — H W
FrFn—TH 59 2 — H W
FrFn—TH 60 1 303 1 % ige—TH 105

FrFn—TH 60 2 126 2 * hR=TH 47 2

FrFn—TH 60 3 — H W
FrFn—TH 61 1 126 2 * hR=TH 47 2

#in—TH 61 2 — HO
¥iFn—TH 62 1 5 1 * PRTTH 13 6

Bin—TH 62 2 — MO
¥iFn—TH 63 126 3 h=TH 47 3

#in—TH 197 — HO
¥ifn—TH 198 |1 143 4 * ik T H 3 4

¥iFn—TH 198 |2 143 4 * ik T H 3 4

¥ifn—TH 198 |3 143 4 * ik T H 3 4

#F—TH 198 4 143 4 * P T TH 3 4

#F—TH 199 |1 143 4 * P T TH 3 4

#F—TH 199 |2 141 4 k=T H 5 4

#F—TH 199 |3 141 5 k=T H 5 6

#F—TH 199 4 141 14 k=T H 5 7

#F—TH 200 |1 143 13 * P T TH 3 11

#F—TH 200 |2 143 13 * P T TH 3 11

#F—TH 200 |3 143 4 * P T TH 3 4

#F—TH 200 |4 143 5 k=T H 3 10

#F—TH 201 1 141 15 k=T H 5 8

Bin—TH 201 |2 141 12 hf " TH 5 12

Bin—TH 201 |3 141 13 hf " TH 5 13

#F—TH 201 |4 141 16 k=T H 5 9
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HA—TH 201 |5 141 17 * T H 5 10
HA—TH 202 |1 141 17 * T H 5 10
HA—TH 202 |2 141 18 =T H 5 11
HF—TH 202 |3 141 19 =T H 5 5
HF—TH 203 143 12 * T H 3 8
HF—TH 204 143 12 * T H 3 8
HF—TH 205 |1 141 3 =T H 5 3
HF—TH 205 |2 141 20 =T H 5 14
HF—TH 206 |1 143 1 =T H 3 1
HF—TH 206 |2 143 2 =T H 3 2
HF—TH 207 — H W
FrFn—TH 208 — H W
FrFn—TH 209 — H W
FrFn—TH 210 |1 136 1 % i T H 1 1
FrFn—TH 210 |2 136 14 FRTTH 1 15
#m—TH 210 |3 136 15 hRTTH 1 16
FrFn—TH 211 136 1 % i T H 1 1
FrFn—TH 212 140 2 % i T H 4 2
FrFn—TH 213 156 |2 2 % ige—TH 14 2
FrFn—TH 214 140 2 % i T H 4 2
¥iFn—TH 215 |1 135 2 k=T H 2 3
¥iFn—TH 215 |2 140 2 * ik T H 4 2
¥iFn—TH 216 |1 135 8 * ik T H 2 10
Bin—TH 216 2 — HO
#in—TH 216 3 — HO
¥ifn—TH 217 1 129 24 * fik—TH 4 15
¥iFn—TH 218 1 129 14 * fik—TH 4 14
¥ifn—TH 218 |2 129 24 * fi—TH 4 15
#F—TH 219 |1 143 3 * P T TH 3 3
#F—TH 219 |2 129 15 * fk—TH 4 16
#F—TH 220 129 15 * fk—TH 4 16
#F—TH 221 5 1 * PRTTH 13 6
#F—TH 222 5 1 * PRTTH 13 6
#F—TH 223 1 129 10 * fk—TH 4 10
#F—TH 223 |2 129 11 * fk—TH 4 11
#F—TH 224 129 10 * fk—TH 4 10
Hfn—TH 225 |2 — mo
Bfn—TH 226 — MO
Frfn—TH 227 — H B
#F—TH 228 129 14 * fk—TH 4 14
#F—TH 229 129 14 * fk—TH 4 14
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HA—TH 230 |1 156 |2 3 * he—TH 14 3
HA—TH 230 |2 156 |2 3 * he—TH 14 3
HA—TH 231 156 |2 3 * he—TH 14 3
HF—TH 232 134 |2 9 * hf—TH 8 10
HF—TH 233 134 |2 9 * hf—TH 8 10
HF—TH 234 130 |1 10 fR—TH 5 12
HF—TH 235 |1 134 |2 7 * hfe—TH 8 8
HF—TH 235 |2 142 1 * T H 6 1
HF—TH 236 |1 134 |2 7 * hk—TH 8 8
HF—TH 236 |2 142 1 * T H 6 1
HF—TH 236 |3 142 1 * T H 6 1
FrFn—TH 237 |1 134 |2 8 % ige—TH 8 9
#in—TH 237 |2 140 4 FRTTH 4 4
FrFn—TH 237 |3 134 |2 8 % fige—TH 8 9
FrFn—TH 237 |4 134 |2 8 % ige—TH 8 9
FrFn—TH 238 134 |2 9 * iR—TH 8 10
FrFn—TH 239 134 |2 9 * iR—TH 8 10
FrFn—TH 240 — H W
FrFn—TH 241 — H W
FrFn—TH 242 |1 131 10 Hk—TH 7 12
¥iFn—TH 242 |2 156 |2 3 % hi—TH 14 3
¥iFn—TH 243 |1 130 |1 14 fk—TH 5 15
¥iFn—TH 243 |2 156 |2 3 * ih—TH 14 3
¥iFn—TH 244 |1 167 6 % hi—TH 23 6
¥ifn—TH 244 |2 135 16 * ik T H 2 13
¥ifn—TH 244 |3 135 14 * ik T H 2 12
¥iFn—TH 244 |4 135 9 * ik T H 2 11
¥ifn—TH 244 |5 135 9 * ik T H 2 11
Bin—TH 244 |6 135 20 hg T TH 2 14
#F—TH 244 |7 135 16 * P T TH 2 13
#F—TH 244 |8 135 14 * P T TH 2 12
#F—TH 245 |1 135 4 k=T H 2 5
#F—TH 245 |2 101 8 h=TH 13 8
#F—TH 245 |3 135 19 k=T H 2 6
#F—TH 246 |1 136 5 k=T H 1 7
Bin—TH 246 |2 136 13 hg T TH 1 10
#F—TH 247 |1 136 6 * P T TH 1 8
#F—TH 247 |2 136 6 * P T TH 1 8
#F—TH 247 |3 136 16 k=T H 1 9
Frfn—TH 248 — H B
Frfn—TH 249 — H B
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HA—TH 250 — H W
HA—TH 251 138 1 * T H 8 1

HA—TH 252 138 1 * T H 8 1

HF—TH 253 138 2 #PRTTH 8 2

HF—TH 253 145 14 #PRZTH 13 12

HF—TH 253 145 15 #PRZTH 13 14

HF—TH 253 145 16 #PRZTH 13 15

HF—TH 254 138 3 * T H 8 3

HF—TH 254 138 21 PR ZTH 8 23

HF—TH 255 147 5 =T H 11 5

HF—TH 256 138 11 =T H 8 6

FrFn—TH 256 138 4 FRTTH 8 4

FrFn—TH 257 138 23 FRTTH 8 5

FrFn—TH 257 138 12 FRTTH 8 21

FrFn—TH 257 138 13 FRTTH 8 22

FrFn—TH 258 — H W
FrFn—TH 259 — H W
FrFn—TH 260 — H W
FrFn—TH 261 156 |2 2 % ige—TH 14 2

FrFn—TH 262 156 |2 2 % ige—TH 14 2

¥iFn—TH 263 52 1 1 * gy H 21 1

¥iFn—TH 264 209 1 % hi—TH 39

¥iFn—TH 265 209 1 * ih—TH 39

¥iFn—TH 266 210 1 % hi—TH 38

¥ifn—TH 267 62 1 s g T H 10 1

¥ifn—TH 268 62 1 s T H 10 1

¥iFn—TH 269 140 2 * ik T H 4 2

¥ifn—TH 270 140 2 * ik T H 4 2

#F—TH 271 138 5 k=T H 8 7

#F—TH 271 140 2 * P T TH 4 2

#F—TH 271 138 6 k=T H 8 8

FR—TH 272 — WO
FR—TH 273 — W
FR—TH 274 — W
#F—TH 275 140 2 * P T TH 4 2

#F—TH 276 138 10 k=T H 8 20

#F—TH 276 143 3 * P T TH 3 3

#F—TH 277 142 2 k=T H 6 2

#F—TH 278 147 4 * T H 11 4

#F—TH 279 147 4 * T H 11 4

#F—TH 279 147 6 k=T H 11 6
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HA—TH 280 — H W
HA—TH 281 — SEE 4
HA—TH 282 |1 147 3 =T H 11 3
HF—TH 282 |2 135 13 PR ZTH 2 20
HF—TH 283 138 9 * T H 8 19
HF—TH 284 143 6 =T H 3 5
HF—TH 285 — H W
HF—TH 286 — H W
HF—TH 287 — H W
HF—TH 288 — H W
HF—TH 289 |1 146 1 =T H 10 1
FrFn—TH 289 |2 140 2 % i T H 4 2
FrFn—TH 289 |3 146 2 FRTTH 10 2
FrFn—TH 289 |4 146 13 FRTTH 10 3
FrFn—TH 289 |5 146 14 FRTTH 10 19
#m—TH 289 |6 146 15 hRTTH 10 18
#m—TH 289 |7 146 16 hRTTH 10 17
#m—TH 289 |8 146 17 hRTTH 10 16
#m—TH 289 |9 146 18 * i =T H 10 15
FrFn—TH 200 |1 140 2 % i T H 4 2
¥iFn—TH 290 |2 140 2 * ik T H 4 2
Birn—TH 290 |3 146 18 * i =T H 10 15
Birn—TH 291 |1 146 18 * i =T H 10 15
Birn—TH 291 |2 146 19 hg T TH 10 14
Birn—TH 291 |3 146 20 hg T TH 10 20
¥ifn—TH 292 143 7 k=T H 3 9
¥iFn—TH 293 144 2 * ik T H 14 2
¥ifn—TH 294 |1 142 11 k=T H 6 9
#F—TH 294 |2 142 12 * P T TH 6 4
#F—TH 294 |3 142 4 k=T H 6 8
FR—TH 294 4 — W
#F—TH 294 |5 142 3 k=T H 6 3
#F—TH 294 |6 142 12 * P T TH 6 4
#F—TH 294 |7 142 12 * P T TH 6 4
#F—TH 294 |8 142 12 * P T TH 6 4
#F—TH 296 |1 143 8 * P T TH 3 6
#F—TH 296 |2 143 12 * P T TH 3 8
#F—TH 296 |3 143 14 k=T H 3 7
#F—TH 297 |1 143 8 * P T TH 3 6
Hfn—TH 297 |2 — mo
Bfn—TH 298 — MO
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HA—TH 299 138 16 * T H 8 11
HA—TH 300 138 8 * T H 8 10
HA—TH 300 — H W
HF—TH 300 138 16 * T H 8 11
HF—TH 300 138 20 #PRZTH 8 12
HF—TH 300 138 22 #PRZTH 8 14
HF—TH 301 138 8 * T H 8 10
HF—TH 301 — H W
HF—TH 301 138 19 PR ZTH 8 13
HF—TH 302 144 2 * T H 14 2
HF—TH 302 — H W
FrFn—TH 303 145 12 % i T H 13 8
FrFn—TH 304 145 12 % i T H 13 8
FrFn—TH 305 145 24 FRTTH 13 6
FrFn—TH 306 145 9 % i T H 13 4
FrFn—TH 307 145 9 % i T H 13 4
FrFn—TH 308 145 11 FRTTH 13 7
FrFn—TH 309 145 12 % i T H 13 8
FrFn—TH 310 145 12 % i T H 13 8
FrFn—TH 311 145 10 FRTTH 13 5
¥iFn—TH 312 145 9 * ik T H 13 4
¥iFn—TH 313 146 3 k=T H 10 4
¥iFn—TH 314 140 2 * ik T H 4 2
¥iFn—TH 315 140 2 * ik T H 4 2
¥ifn—TH 316 138 3 * ik T H 8 3
Birn—TH 317 145 17 hg T TH 13 16
Birn—TH 318 145 18 hg T TH 13 17
¥ifn—TH 319 1 2 8 e H T H 15 18
#F—TH 319 52 1 1 s PPy T H 21 1
#F—TH 319 52 1 1 s PPy T H 21 1
#F—TH 320 52 1 1 s PPy T H 21 1
#F—TH 321 145 4 k=T H 13 2
#F—TH 322 1 2 3 T H 15 16
#F—TH 323 52 1 1 s PPy T H 21 1
#F—TH 324 127 2 * fk—TH 2 3
#F—TH 325 127 2 * fk—TH 2 3
Bfn—TH 325 206 2 h=TH 51 2
Bfn—TH 326 — MO
Frfn—TH 327 — H B
Frfn—TH 328 — H B
Frfn—TH 329 — H B
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HA—TH 330 — H W
HA—TH 331 136 4 * T H 1 6
HA—TH 332 142 9 Rk TTH 6 11
HF—TH 332 142 10 #PRTTH 6 12
HF—TH 333 |1 136 4 * T H 1 6
HF—TH 333 ]2 72 |2 8 * he—TH 18 12
HF—TH 334 1 141 11 =T H 5 16
HF—TH 334 |2 141 10 =T H 5 15
HF—TH 335 141 2 =T H 5 2
HF—TH 336 |1 150 4 #PRZTH 17 2
HF—TH 336 |1 150 8 #PRZTH 17 3
FrFn—TH 336 |1 150 9 # hZTH 17 4
FrFn—TH 336 |1 150 10 # kT TH 17 5
FrFn—TH 336 |1 150 6 # P ZTH 17 7
#m—TH 336 |2 150 11 * i =T H 17 8
FrFn—TH 33 |3 167 6 * iR—TH 23 6
FrFn—TH 337 |1 150 5 FRTTH 17 6
#m—TH 337 |2 150 11 * i =T H 17 8
FrFn—TH 337 I3 167 6 * iR—TH 23 6
#m—TH 338 |1 143 10 * i =T H 3 12
¥iFn—TH 338 |2 143 10 * ik T H 3 12
¥iFn—TH 338 |3 150 7 * ik T H 17 9
¥iFn—TH 338 |4 150 7 * ik T H 17 9
¥iFn—TH 338 |5 143 9 * ik T H 3 13
¥ifn—TH 338 |s 143 9 * ik T H 3 13
¥ifn—TH 339 142 6 k=T H 6 7
¥iFn—TH 340 151 9 k=T H 15 20
¥ifn—TH 341 135 11 k=T H 2 17
#F—TH 342 135 10 k=T H 2 15
#F—TH 343 151 7 k=T H 15 19
Bin—TH 344 |1 151 4 * ik =T H 15 5
Bin—TH 344 |2 151 4 * ik =T H 15 5
Bin—TH 344 |3 151 17 hg T TH 15 4
#F—TH 345 151 1 k=T H 15 1
FR—TH 555 — WO
#F—TH 556 |1 144 11 # FRTTH 14 6
Frfn—TH 556 |1 144 4 # FRTTH 14 7
Frfn—TH 556 |1 144 5 # FRTTH 14 8
Bin—TH 556 |2 144 6 * ik =T H 14 9
Bin—TH 556 |3 144 14 * ik =T H 14 10
Hfn—TH 556 |4 — mo
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HA—TH 557 144 14 * T H 14 10
HA—TH 558 140 2 * T H 4 2
HA—TH 559 140 2 * T H 4 2
HF—TH 560 136 2 =T H 1 4
HF—TH 561 1 140 2 * T H 4 2
HF—TH 561 |2 140 2 * T H 4 2
HF—TH 562 |1 62 1 * Ry T H 10 1
HF—TH 562 |2 140 2 * T H 4 2
HF—TH 563 150 1 * T H 17 1
HF—TH 564 140 2 * T H 4 2
HF—TH 565 149 2 =T H 16 3
#m—TH 566 |1 149 20 hRTTH 16 20
#m—TH 566 |2 149 21 hRTTH 16 19
#m—TH 566 |3 149 22 * i =T H 16 18
#m—TH 567 |1 149 22 * i =T H 16 18
#m—TH 567 |2 149 15 hRTTH 16 17
FrFn—TH 568 147 2 FRTTH 11 2
FrFn—TH 569 |1 141 1 FRTTH 5 1
#m—TH 569 |2 149 23 hRTTH 16 22
FrFn—TH 569 |3 149 14 % i T H 16 2
¥iFn—TH 569 |4 149 14 * ik T H 16 2
Hifn—TH 569 |5 149 19 hg T TH 16 21
Bin—TH 570 — MO
Bin—TH 571 — HO
¥ifn—TH 572 150 1 * ik T H 17 1
¥ifn—TH 573 95 2 5 * PR =TH 33 8
¥iFn—TH 574 150 1 * ik T H 17 1
¥ifn—TH 575 95 2 5 * PR =TH 33 8
#F—TH 576 52 1 1 s PPy T H 21 1
#F—TH 577 52 1 1 s PPy T H 21 1
#F—TH 578 150 1 * P T TH 17 1
#F—TH 579 140 2 * P T TH 4 2
#—TH 580 |1 146 5 * ik =T H 10 13
#—TH 580 |2 146 11 hg T TH 10 12
#—TH 580 |3 146 5 * ik =T H 10 13
#—TH 581 |1 146 5 * ik =T H 10 13
#—TH 581 |2 146 5 * ik =T H 10 13
#—TH 581 |3 146 10 hf " TH 10 11
#—TH 581 |4 146 5 * ik =T H 10 13
#—TH 581 |5 146 5 * ik =T H 10 13
#F—TH 582 95 2 5 * PR=TH 33 8
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BrFn—TH 583 150 1 % = TH 17 1
BrFn—TH 584 1 144 14 % = TH 14 10
BrFn—TH 584 |2 144 6 % = TH 14 9
BrFn—TH 584 |3 144 14 % T TH 14 10
R—TH 215 |2 — S
R—TH 216 |2 — S
R—TH 242 |2 — S
R—TH 245 |2 — S
R—TH 251 2 — S
R—TH 331 200 8 % T TH 41 10
R—TH 332 1 2 1 5 * HLFTH 14 7
®—TH 332 3 — NER
®—TH 332 4 — NER
*—TH 333 1 196 6 hde—TH 34 10
*—TH 336 1 163 2 * Hik—TH 26 2
®—TH 337 2 — NER
®—TH 337 3 — NER
®—TH 338 2 — NER
®—TH 338 3 — NER
®—TH 339 2 — NER
X*—TH 339 3 — MO
H—TH 340 2 — ER
X*—TH 340 3 — MO
H—TH 341 1 135 1 % fRTTH 2 1
H—TH 341 4 135 1 % fRTTH 2 1
HK—TH 342 1 135 12 T H 2 18
H—TH 343 1 135 17 T H 2 2
H—TH 343 4 135 18 T H 2 19
K—TH 343 5 159 3 h—TH 17 3
K—TH 355 1 164 3 * hk—TH 27 3
K—TH 355 2 164 3 * hk—TH 27 3
K—TH 356 164 3 * hk—TH 27 3
K—TH 357 164 3 * hk—TH 27 3
K—TH 358 1 196 1 * hk—TH 34 1
K—TH 358 2 196 1 * hk—TH 34 1
K—TH 358 3 196 1 * hk—TH 34 1
*—TH 358 |4 196 25 F—TH 34 25
K—TH 359 |2 — mo
K—TH 359 |3 — mo
K—TH 360 |1 — mo
K—TH 360 |2 149 6 * ik T H 16 8
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RK—TH 360 |3 202 1 % = TH 43 1
FK—TH 360 |4 — NER
FK—TH 360 |5 — NER
R—TH 360 |6 — NER
R—TH 360 |7 — NER
R—TH 360 |8 — NER
R—TH 360 |9 149 6 % T TH 16 8
R—TH 360 10 202 16 R TTH 43 22
R—TH 360 11 202 17 R TTH 43 23
R—TH 360 12 202 5 R TTH 43 5
R—TH 360 13 202 4 T H 43 4
*—TH 360 14 202 13 EE S = 43 20
H—TH 360 |15 202 15 % g T H 43 18
*—TH 360 16 — R
®—TH 360 17 — H I
®—TH 360 18 — H I
®—TH 360 19 — H I
®—TH 360 20 — R
H—TH 360 |21 202 15 % g T H 43 18
¥—TH 360 |22 201 4 % gt T H 42 5
H—TH 360 23 202 1 % fRTTH 43 1
%—TH 360 |24 202 11 ik T H 43 15
H—TH 360 25 201 4 % fRTTH 42 5
X*—TH 360 26 — MO
X*—TH 360 27 — MO
HK—TH 360 28 202 1 % fRTTH 43 1
H—TH 360 29 202 1 % fRTTH 43 1
H—TH 361 1 180 5 T H 35 6
K—TH 361 2 2 5 * FRHTH 14 7
K—TH 362 1 189 7 # PR TH 26 6
K—TH 362 1 180 15 # PR TH 35 7
K—TH 362 1 202 3 # PR TH 43 3
%—TH 362 |1 202 19 # kT H 43 21
K—TH 363 1 2 5 * PRFT A 14 7
K—TH 363 |3 — B
K—TH 367 1 165 6 h—TH 25 8
K—TH 367 |2 200 11 fk T H 41 7
K—TH 368 |2 — mo
K—TH 368 |3 — mo
K—TH 369 |2 — mo
K—TH 370 |2 — mo
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RK—TH 370 |3 — H K
FK—TH 371 2 — H K
FK—TH 371 3 — H K
HK—TH 375 1 199 3 F T H 44 3

R—TH 375 |9 199 2 e =T H 44 2

HK—TH 376 1 163 4 * hl—TH 26 5

R—TH 376 |2 163 7 h—TH 26 6

R—TH 377 1 163 6 h—TH 26 7

HK—TH 3717 |2 163 4 * hl—TH 26 5

HK—TH 378 2 1 5 * PRTTH 14 7

R—TH 379 |2 — H K
¥—TH 380 |1 202 7 % gt T H 43 7

¥—TH 380 |2 202 7 % g T H 43 7

*—TH 380 |3 201 8 i T H 42 10

¥—TH 380 |4 201 1 ik T H 42 1

*—TH 381 2 1 5 * FLFTH 14 7

¥—TH 382 188 |2 1 ik T H 27

*—TH 383 2 1 5 * FFTH 14 7

¥—TH 384 |1 200 2 ik T H 41 3

*—TH 384 |6 200 10 EE S = 41 2

K—TH 389 |2 — H I
K—TH 390 |2 — H I
K—TH 391 2 — H I
H—TH 395 1 2 1 5 * PRATH 14 7

K—TH 395 |5 — H I
HK—TH 396 1 2 1 5 * PRATH 14 7

H—TH 396 2 2 1 5 * PRATH 14 7

K—TH 396 |3 — H I
K—TH 397 2 1 5 * PRFT A 14 7

K—TH 398 1 2 1 5 * FRETH 14 7

K—TH 398 2 202 9 R TH 43 10

K—TH 399 1 200 1 R TH 41 1

K—TH 399 2 2 1 5 * FRETH 14 7

K—TH 400 200 8 ¥ fRTTH 41 10

K—TH 401 2 — B
K—TH 402 200 3 * FRTTH 41 4

K—TH 403 200 3 * ik T H 41 4

K—TH 404 201 7 fk T H 42 9

K—TH 404 |1 201 11 fk T H 42 11

K—TH 404 |2 201 7 fk T H 42 9

*—TH 405 |1 203 4 # PR TH 40 4
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H—TH 405 1 200 4 #PRZTH 41 5
H—TH 405 1 201 10 #PRZTH 42 8
H—TH 405 |2 200 7 * hR_TH 41 8
HK—TH 405 |3 200 5 e =T H 41 6
HK—TH 406 1 200 8 * hR_TH 41 10
HK—TH 406 |2 200 7 * hR_TH 41 8
HK—TH 406 |3 2 1 5 * FRTTH 14 7
HK—TH 409 |2 — H K
HK—TH 410 |2 — H K
HK—TH 412 |2 — H K
HK—TH 417 |2 200 7 * hR_TH 41 8
¥—TH 418 |1 203 5 ik T H 40 5
¥—TH 418 |2 200 7 % g T H 41 8
F¥—TH 418 |5 203 6 ik T H 40 6
¥—TH 419 |1 203 3 ik T H 40 3
®—TH 419 |2 206 1 * L =TH 51 1
®—TH 419 3 — H I
®—TH 419 5 — H I
*—TH 420 204 1 # T TH 39 1
*—TH 420 203 2 # T TH 40 2
H—TH 421 1 203 1 T H 40 1
X—TH 421 2 210 1 * k—TH 38
H—TH 422 1 202 8 T H 43 8
H—TH 422 2 202 23 T H 43 9
K—TH 423 — H I
%OTH 1 1 166 18 # thge—TH 24 16
%OTH 1 1 165 2 # thge—TH 25 2
% TH 1 2 165 3 fe—TH 25 3
¥ TH 2 1 149 10 ik T H 16 13
% TH 2 2 169 4 h—TH 21 6
¥ TH 2 3 149 11 ik T H 16 14
¥ TH 2 4 149 12 ik T H 16 15
¥ TH 2 5 149 13 ik T H 16 16
-TH 3 159 10 fl—TH 17 13
¥TTH 4 159 5 fl—TH 17 7
% TH 5 134 |2 6 * fe—TH 8 7
% TH 6 1 134 |2 6 * k—TH 8 7
% TH 6 2 134 |2 11 * k—TH 8 11
%TTH 7 159 9 F—TH 17 11
% TH 8 134 |2 3 * k—TH 8 4
KTH 9 — H I
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¥TTH 10 129 12 fR—TH 4 12

¥TTH 11 — H K

¥TTH 12 — H K

%TTH 13 — H K
%TTH 14 166 1 h—TH 24 1
%TTH 15 110 1 FR=TH 3 1
%TTH 15 1 110 1 FR=TH 3 11
%TTH 15 2 110 11 FR=TH 3 12
%TTH 15 3 110 12 FR=TH 3 1
%TTH 16 199 8 F T H 44 7
%*TTH 17 1 199 6 F T H 44 5
¥ TH 17 2 199 5 ik T H 44 4
¥ TH 18 1 199 7 % g T H 44 6
¥ TH 18 2 199 9 ik T H 44 8
% TH 19 199 7 % gt T H 44 6
¥ TH 20 199 10 ik T H 44 9
*°TH 21 168 1 * Hik—TH 22 1
*TTH 22 168 1 * Hik—TH 22 1
S _TH 23 168 1 * Hik—TH 22 1
*°TH 24 168 1 * Hik—TH 22 1
¥ °TH 25 149 3 # TRZTH 16 4
¥ °TH 25 149 17 # TRZTH 16 5
¥ °TH 26 135 3 ik T H 2 4
¥ °TH 27 149 4 % gt T H 16 6
¥ °TH 28 149 4 % gt T H 16 6
¥ °TH 29 149 4 % gt T H 16 6
FTH 30 172 |2 9 * k—TH 18 13
FTH 31 1 172 |2 2 fe—TH 18 4
FTH 31 2 172 |2 3 # hk—TH 18 5
FTH 31 2 172 |2 4 # hk—TH 18 6
FTH 31 2 172 |2 27 # hk—TH 18 7
FTH 32 172 |2 8 * hk—TH 18 12
FTH 33 172 |2 8 * hk—TH 18 12
FTH 34 172 |2 9 * hk—TH 18 13
FTH 35 1 172 |2 5 # hk—TH 18 9
FTH 35 1 172 |2 19 # hk—TH 18 10
% TH 35 2 172 |2 7 fl—TH 18 11
% TH 36 1 172 |2 12 # Hh—TH 18 8
% TH 36 1 172 |2 6 # Hh—TH 18 16
% TH 36 2 172 |2 11 fl—TH 18 15
% TH 37 156 |2 2 * k—TH 14 2
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¥TTH 38 156 |2 2 * hR—TH 14
¥TTH 39 156 |2 2 * hR—TH 14
¥TTH 40 156 |2 2 * hR—TH 14
% _TH 41 172 |2 9 * H—TH 18
*_°TH 42 175 |2 4 % e ~TH 30
% _TH 43 1 172 |2 8 * H—TH 18
*_-TH 43 2 52 1 1 * Ry T H 21
% _TH 44 1 172 |2 9 * H—TH 18
% _TH 44 2 172 |2 9 * H—TH 18
*_-TH 44 3 52 1 1 * Ry T H 21
%*TTH 44 4 52 1 1 * T H 21
¥ TH 45 1 187 5 % gt T H 20
*TTH 45 2 156 |2 2 * Hk—TH 14
% TH 46 199 7 % g T H 44
¥ TH 47 199 7 % gt T H 44
¥ TH 48 199 7 % gt T H 44
¥ TH 49 173 1 % gt T H 29
¥ TH 50 173 1 % gt T H 29
¥ TH 51 1 173 20 T H 29
¥ TH 51 2 173 1 % gt T H 29
% TH 52 159 4 * k—TH 17
% TH 53 159 4 * k—TH 17
% TH 54 210 1 * k—TH 38
% TH 55 210 1 * k—TH 38
% TH 56 159 6 * k—TH 17
% TH 57 159 6 * k—TH 17
¥ °TH 58 —
¥ °TH 59 —
¥TTH 60 —
¥TTH 61 —
¥TTH 62 —
¥ TH 63 2 1 5 * T TH 14
FTH 64 172 |2 9 * hk—TH 18
FTH 65 168 5 * hk—TH 22
-TH 66 173 31 # PRZTH 29
¥-TH 66 173 4 # kT H 29
¥-TH 67 1 173 37 # kT H 29
¥-TH 67 1 173 3 # kT H 29
% TH 67 2 172 |2 9 * k—TH 18
% °TH 67 3 173 30 fk T H 29
% °TH 68 1 173 2 fk T H 29
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¥TTH 68 2 168 2 fR—TH 22
¥ TH 69 173 23 # hRZTH 29
¥ TH 69 173 29 # hRZTH 29
%TTH 70 1 173 24 e =T H 29
%TTH 70 2 173 25 e =T H 29
%TTH 70 3 173 26 e =T H 29
%TTH 70 4 173 27 e =T H 29
%TTH 71 148 13 e =T H 12
¥ °TH 72 148 12 k=T H 12
*_-TH 73 148 5 * e ~TH 12
*_-TH 74 1 175 |2 4 % e ~TH 30
¥ TH 74 2 148 5 % gt T H 12
% TH 75 51 1 # hlTH 19
% TH 75 22 6 # PRHETH 17
% TH 76 172 |2 10 * Hhge—TH 18
% TH 77 1 172 |2 10 * Hhge—TH 18
*°TH 77 2 166 15 * Hik—TH 24
*TTH 77 3 166 15 * Hik—TH 24
¥ TH 78 1 149 7 ik T H 16
¥ TH 78 2 149 5 % gt T H 16
¥ °TH 79 1 149 5 % gt T H 16
% TH 79 2 164 9 * k—TH 27
% TH 79 3 164 9 * k—TH 27
¥ °TH 80 1 175 |2 1 ik T H 30
¥ °TH 80 1 175 |2 1 ik T H 30
¥ °TH 80 3 175 |2 8 ik T H 30
¥ °TH 80 4 175 |2 9 ik T H 30
¥ °TH 80 5 175 |2 10 ik T H 30
¥ TH 81 1 176 |2 11 ik T H 31
¥ TH 81 2 176 |2 2 ik T H 31
¥ TH 81 3 176 |2 12 ik T H 31
¥ TH 81 4 176 |2 13 ik T H 31
¥ TH 82 176 |2 14 ik T H 31
¥ TH 83 176 |2 3 * ik T H 31
¥ TH 84 176 |2 3 * e T H 31
¥ TH 85 176 |2 8 ik T H 31
% °TH 86 176 |2 7 fk T H 31
% °TH 87 176 |2 6 fk T H 31
% °TH 88 176 |2 5 fk T H 31
¥TTH 89 178 2 fk T H 33
¥TTH 90 178 1 fk T H 33

— 85 —




BTt & R R

IH iy H %* i X - T OHb B B 4 Hh

X 5 wa | w [ e | owe | me nr 4 o
¥TTH 91 178 7 e =T H 33
¥TTH 92 177 2 e =T H 32
¥TTH 93 177 10 e =T H 32
%TTH 94 177 9 e =T H 32
%TTH 95 177 3 e =T H 32
¥ °TH 96 1 177 4 k=T H 32
%TTH 96 2 177 11 e =T H 32
%TTH 97 177 7 e =T H 32
%TTH 98 —
%TTH 99 177 6 e =T H 32
%*TTH 100 177 5 e =T H 32
¥ TH w1 | 179 8 ik T H 34
¥ TH 01 |2 2 1 5 % g T H 14
¥ TH 102 177 1 ik T H 32
*TTH 103 168 5 * Hik—TH 22
*°TH 104 168 5 * Hik—TH 22
¥ TH 105 | 20 4 R E T H 1
¥ TH 105 |2 97 8 R =TH 16
*°TH 106 210 1 * Hik—TH 38
% TH 107 |2 —
%OTH 108 |2 —
%OTH 109 |2 —
%OTH 1o | —
%OTH 1o |3 —
¥ °TH 1 h 102 18 R =TH 9
¥ °TH 1 |2 102 19 R =TH 9
¥ °TH 1 I3 102 28 R =TH 9
¥ °TH 1 |4 102 29 R =TH 9
% TH 112 1 168 5 * hk—TH 22
% TH 112 2 156 |2 2 * fe—TH 14
¥ TH 113 180 3 * ik T H 35
¥ TH 113 h 180 3 ik T H 35
¥ TH 13 |2 180 16 ik T H 35
¥ TH 13 I3 180 17 * ik T H 35
¥ TH 114 180 3 * e T H 35
¥ TH 114 | 180 17 * e T H 35
% °TH 114 |2 180 18 fk T H 35
% °TH 114 |3 180 19 fk T H 35
% °TH 114 |4 180 20 fk T H 35
% °TH 114 |5 180 21 fk T H 35
% °TH 114 e 180 22 fk T H 35
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¥TTH 114 7 180 23 e =T H 35 23
¥TTH 114 |8 180 24 e =T H 35 24
¥TTH 114 19 180 25 e =T H 35 26
H¥TTH 114 o 180 26 kT H 35 25
%TTH 115 179 7 e =T H 34 8
%TTH 116 179 6 * hR_TH 34 7
%TTH 117 179 6 * hR_TH 34 7
*_-TH 118 179 6 * e ~TH 34 7
%TTH 119 179 6 * hR_TH 34 7
% _TH 120 1 210 1 * H—TH 38

%*TTH 120 |2 179 5 e =T H 34 6
¥ TH 120 |3 179 4 % gt T H 34 5
¥ TH 120 |4 179 4 % g T H 34 5
% TH 121 | 179 3 % g T H 34 3
¥ TH 121 |2 179 11 * R TH 34 11
¥ TH 121 |3 179 11 * R TH 34 11
¥ TH 121 |4 179 3 % gt T H 34 3
¥ TH 122 179 1 % gt T H 34 1
¥ TH 123 | 179 1 % g T H 34 1
% TH 125 |1 180 1 # PRZTH 35 1
¥ TTH 125 | 180 13 # kT H 35 2
¥TTH 125 | 180 11 # kT H 35 12
¥ TTH 125 | 180 10 # kT H 35 13
¥ TTH 125 | 180 12 # kT H 35 14
¥ TTH 125 | 180 14 # kT H 35 15
% TH 127 168 5 * k—TH 22 4
% TH 128 154 8 fe—TH 12 8
¥ TTH 129 180 2 ik T H 35 3
F¥TTH 130 2 1 5 * T TH 14 7
F¥TTH 131 2 1 5 * T TH 14 7
F¥TTH 132 | 180 6 ik T H 35 8
F¥TTH 132 |2 180 7 * e T H 35 9
F¥TTH 133 180 7 * e T H 35 9
¥TTH 134 1 1 |2 3 TR=TH 2 2
F¥TTH 134 |2 1 |2 4 * fR=TH 2 9
F¥TTH 134 |3 1 |2 4 * fR=TH 2 9
%TTH 135 |1 INEI P 10 Fl=TH 2 3
¥TTH 135 |2 INEI P 4 * hR=TH 2 9
¥TTH 135 |3 INEI P 4 * hR=TH 2 9
¥TTH 136 | 178 9 fk T H 33 8
% TH 136 7 172 |2 1 fl—TH 18 1
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H¥TTH 136 |9 172 |2 16 Hg—TH 18 19
¥ TTH 136 |20 172 |2 15 Hg—TH 18 18
¥ TTH 136 |21 172 |2 14 Hg—TH 18 17
FTTH 136 |22 178 5 e =T H 33 6
FTTH 136 |23 172 |2 17 h—TH 18 2
FTTH 136 |24 172 |2 18 h—TH 18 3
S TTH 136 |25 178 11 e =T H 33 7
S TTH 136 |26 178 12 e =T H 33 9
S TTH 136 |27 178 13 il =T H 33 10
FTTH 137 |2 — H K
FTTH 138 |2 — H K
*TTH 139 2 — H I
% _TH 140 — MO
%_TH 141 190 3 ik~ TH 37 5
%_TH 142 190 4 ik~ TH 37 7
% TH 143 190 2 # PRZTH 37 3
% TH 143 190 9 # PRZTH 37 4
% TH 143 190 10 # PRZTH 37 6
%_TH 144 | 190 1 ik~ TH 37 1
%_TH 144 |2 200 6 ik~ TH 41 9
¥ TTH 144 |3 190 11 Hf—TH 37 12
¥TTH 144 |4 190 12 Hk —TH 37 13
¥ TTH 144 |5 190 13 Hf—TH 37 2
¥ TTH 145 | 191 4 * R =T H 36 7
¥ TTH 145 |2 191 5 * R =T H 36 11
¥TTH 145 |3 191 9 Hf—TH 36 6
¥ TTH 145 |4 191 10 Hf—TH 36 8
¥ TTH 145 |5 191 11 * R =T H 36 9
F¥TTH 146 191 5 % iR T H 36 11
F¥TTH 147 L 191 2 Hg—TH 36 2
F¥TTH 147 |2 191 4 % iR T H 36 7
F¥TTH 147 |3 191 6 Hg—TH 36 3
F¥TTH 147 |4 191 7 Hg—TH 36 5
F¥TTH 147 |5 191 8 Hg—TH 36 4
F¥TTH 147 e 191 11 % iR T H 36 9
F¥TTH 148 | 191 1 % iR T H 36 1
¥TTH 148 |2 191 1 % iR =T H 36 1
¥TTH 149 |1 192 3 = TH 38 3
¥TTH 149 |2 192 2 = TH 38 2
¥TTH 150 |2 192 1 = TH 38 1
%TTH 152 |2 — mo
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¥TTH 153 |2 — H K
¥TTH 154 1 2 1 5 * PRAETH 14 7
¥TTH 155 173 12 * hR_TH 29 20
%TTH 156 192 6 * hR_TH 38 6
*_°TH 157 192 6 % R =T H 38 6
%TTH 158 192 7 e =T H 38 7
%TTH 159 192 8 e =T H 38 8
%TTH 160 210 1 * hl—TH 38
%TTH 161 2 1 5 * HLFTH 14 7
%TTH 179 182 1 e =T H 19 1
%*TTH 180 182 2 # R ZTH 19 2
% TH 180 189 3 # PRZTH 26 3
¥ TH 181 187 4 % R =T H 20 7
% TH 182 187 4 % R =T H 20 7
%_TH 183 |1 187 2 ik~ TH 20 2
¥ TH 183 |2 187 10 % R T H 20 3
¥ TH 184 |1 187 10 % R T H 20 3
% TH 184 |2 187 11 T H 20 4
% TH 184 |3 187 12 T H 20 5
% TH 185 |1 187 1 # PRZTH 20 1
%OTH 185 |1 189 6 # TRZTH 26 4
¥TTH 185 | 187 1 Hk —TH 20 1
¥ TTH 185 |11 189 6 Hf—TH 26 4
¥ TTH 185 |2 187 9 Hf—TH 20 10
¥ TTH 185 |3 187 8 Hf—TH 20 9
%OTH 185 |4 — M
¥_TH 185 |5 — HO
¥ TTH 185 e 189 4 Hf—TH 26 5
¥TTH 185 |7 — HoO
¥TTH 185 |8 — HO
¥TTH 185 |9 — HoO
F¥TTH 185 |io — WO
F¥TTH 186 189 5 Hg—TH 26 7
F¥TTH 187 116 1 ik =TH 39 1
% TH 188 168 5 * hk—TH 22 4
¥TTH 191 — HO
KTH 192 — MW
¥TTH 194 180 4 % iR =T H 35 5
¥TTH 195 180 4 % iR =T H 35 5
%TTH 196 99 1 Fl=TH 14 1
¥-TH 197 191 3 # kT H 36 10
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¥TTH 197 192 5 #PRZTH 38
¥TTH 198 186 2 F T H 24
¥TTH 199 186 3 F T H 24
%TTH 200 186 4 F T H 24
%TTH 201 186 5 F T H 24
%TTH 202 188 |1 2 F T H 25
%TTH 203 1 —
%TTH 203 |2 —
%TTH 203 |3 —
%TTH 203 |4 —
%*TTH 203 |5 —
% TH 203 |6 —
% TH 203 |7 —
% TH 203 |8 —
% TH 203 |9 —
% TH 203 |10 —
% TH 203 |11 —
% TH 203 |12 —
% TH 203 |13 —
% TH 203 |14 —
%OTH 203 |15 —
%OTH 203 |16 —
%OTH 203 |17 —
%OTH 203 |18 —
%-TH 203 |19 —
%OTH 203 |20 —
%OTH 203 |21 —
%-TH 203 |22 —
¥TTH 203 |23 —
F¥TTH 204 188 |1 7 Hg—TH 25
F¥TTH 205 185 6 Hg—TH 23
F¥TTH 206 185 7 % iR T H 23
F¥TTH 207 185 7 % iR T H 23
F¥TTH 210 185 1 Hg—TH 23
F¥TTH 212 184 9 Hg—TH 22
F¥TTH 213 185 3 Hg—TH 23
¥TTH 214 185 4 = TH 23
¥TTH 215 188 |1 3 = TH 25
¥TTH 216 188 |1 6 = TH 25
¥TTH 217 184 7 = TH 22
¥TTH 218 184 8 = TH 22
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FTTH 219 184 11 e =T H 22 10
FTTH 220 185 2 e =T H 23 3
FTTH 221 184 1 e =T H 22 1
FTTH 222 1 184 2 e =T H 22 3
FTTH 222 |2 — H K
FTTH 222 |3 183 1 e =T H 21 1
S TTH 222 |4 — H K
S TTH 222 |5 184 3 e =T H 22 4
S TTH 222 |6 184 4 il =T H 22 5
FTTH 222 7 184 5 e =T H 22 6
FTTH 222 |8 183 7 e =T H 21 6
%_TH 222 o 183 6 ik~ TH 21 5
%_TH 222 |10 183 5 ik~ TH 21 4
% TH 224 181 3 # PRZTH 18 3
% TH 224 183 4 # PRZTH 21 3
*°TH 225 1 — H I
%_TH 225 |2 188 |1 1 ik~ TH 25 1
%_TH 225 |3 186 7 ik~ TH 24 8
% TH 225 |4 188 |1 14 T H 25 6
%_TH 225 |5 104 3 R =TH 8 4
¥ TTH 225 |6 201 9 Hf—TH 42 4
%OTH 225 |7 — M
%OTH 225 |8 — M
¥_TH 225 |9 — HO
%-TH 225 |10 — M
%OTH 225 |11 — M
X_TH 226 — MO
%-TH 227 — M
¥TTH 228 — HoO
F¥TTH 229 101 6 ik =TH 13 7
F¥TTH 230 |1 189 2 Hg—TH 26 2
% TH 230 2 168 5 * hk—TH 22 4
F¥TTH 231 110 4 ik =TH 3 10
F¥TTH 232 135 8 % iR T H 2 10
F¥TTH 233 138 3 % iR T H 8 3
F¥TTH 234 201 6 Hg—TH 42 7
%TTH 235 |1 INEI P 9 Fl=TH 2 8
¥TTH 235 |2 2 1 5 % PR T H 14 7
¥TTH 236 1r |2 5 Rk =TH 2 4
¥TTH 237 103 8 Rk =TH 10 8
¥TTH 238 102 2 Rk =TH 9 2
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¥TTH 239 99 10 * PRETH 14 12
¥TTH 240 99 10 * PRETH 14 12
¥TTH 241 99 4 =T H 14 6
%TTH 242 102 23 FR=TH 9 26

%TTH 243 1 — NER

%TTH 243 |2 — NER

%TTH 243 |3 — NER
%TTH 244 102 24 FR=TH 9 27
%TTH 245 102 4 FR=TH 9 4
%TTH 246 99 6 FR=TH 14 8
%*TTH 247 105 2 FR=TH 7 2
% TH 248 99 2 R =TH 14 4
% TH 249 99 8 R =TH 14 10
% TH 250 175 |2 5 % R =T H 30 5
¥ TH 251 175 |2 5 % R =T H 30 5

% _TH 252 — MOk

*°TH 253 — H I
¥ TH 254 175 |2 2 ik T H 30 2
*°TH 255 1 194 7 * fe—TH 32 3
%_TH 255 |2 104 6 R =TH 8 8
% TH 256 166 6 * fe—TH 24 10
¥TTH 257 187 5 * R =T H 20 8
¥ TTH 258 173 12 % gt T H 29 20
¥ TTH 259 173 12 % gt T H 29 20
¥ TTH 260 175 |2 3 * R =T H 30 3
¥TTH 261 |1 173 15 ik T H 29 23
¥ TTH 261 |2 145 8 ik T H 13 9
¥ TTH 261 |3 145 13 ik T H 13 11

¥TTH 262 — HoO

¥TTH 263 — HO

¥TTH 264 — HoO
F¥TTH 265 |1 192 10 ik T H 38 10
F¥TTH 265 |2 173 16 % iR T H 29 24
% TH 266 172 |2 9 * hk—TH 18 13
F¥TTH 267 173 16 % iR T H 29 24
F¥TTH 268 173 11 ik T H 29 26
¥TTH 269 173 10 fk T H 29 18
¥TTH 270 173 9 % iR =T H 29 17
¥TTH 271 173 36 fk T H 29 19
¥TTH 272 173 9 % iR =T H 29 17
¥TTH 213 |1 176 |2 3 % iR =T H 31 4
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¥TTH 273 ]2 176 |2 9 e =T H 31 10
FTH 274 155 17 e —TH 13 7
¥TTH 275 1 155 6 fR—TH 13 6
% _TH 275 2 194 7 * H—TH 32 3
%TTH 276 101 7 FR=TH 13 12
%TTH 277 101 1 FR=TH 13 1
%TTH 218 |1 175 |2 3 * e ~TH 30 3
%TTH 278 |2 187 5 * e ~TH 20 8
%TTH 279 1 101 2 FR=TH 13 2
%TTH 279 |2 101 12 FR=TH 13 11
%*TTH 280 — H K
*TTH 281 210 1 * H—TH 38
*TTH 282 210 1 * Hk—TH 38
*°TH 283 210 1 * Hk—TH 38
% TH 284 51 3 * Ry T H 19 3
% TH 285 51 3 * Ry T H 19 3
% TH 286 51 3 * Ry T H 19 3
% TH 287 172 |2 10 * Hhge—TH 18 14
¥_TH 288 172 2 9 * —TH 18 13
% TH 289 175 |2 4 % gt T H 30 4
¥ °TH 290 |1 173 13 ik T H 29 21
FTH 290 2 172 |2 10 * k—TH 18 14
¥ °TH 290 |3 173 28 ik T H 29 25
FTH 291 172 |2 9 * k—TH 18 13
FTH 292 172 |2 10 * k—TH 18 14
FTH 293 172 |2 9 * k—TH 18 13
¥ °TH 294 |1 173 14 % gt T H 29 22
FTH 294 2 172 |2 10 * k—TH 18 14
¥ TH 295 173 14 * ik T H 29 22
¥TTH 296 — HO
KOTH 297 — H W
¥TTH 298 — HO
FTH 299 159 8 * hk—TH 17 10
FTH 300 159 8 * hk—TH 17 10
FTH 301 159 8 * hk—TH 17 10
FTH 302 156 |2 3 * hk—TH 14 3
% TH 303 1 156 |2 3 * k—TH 14 3
% TH 303 2 156 |2 2 * k—TH 14 2
% °TH 304 |1 201 3 * ik T H 42 3
%TTH 304 |2 84 9 * FR=TH 22 10
% °TH 304 |3 84 10 Rk =TH 22 12
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IH iy H %* i X - T OHb ¢ iy H &

X 5 wa | w [ e | owe | me nr wa | #
¥TTH 304 |4 101 5 * PRETH 13 6
¥TTH 304 |5 101 5 * PRETH 13 6
¥TTH 304 |6 104 10 * PRETH 8 7
*_-TH 304 |7 104 10 % i =TH 8 7
%TTH 304 I8 84 9 * L =TH 22 10
%TTH 304 |9 84 11 FR=TH 22 13
%TTH 304 10 201 2 e =T H 42 2
*_-TH 304 |11 201 3 * e ~TH 42 3
%TTH 304 12 104 5 FR=TH 8 6
%TTH 304 13 101 4 FR=TH 13 5
%*TTH 304 14 84 15 FR=TH 22 11
% TH 305 — 1H
% TH 306 — 1H
*°TH 307 159 6 * Hk—TH 17 8
*TTH 308 156 |2 3 * Hik—TH 14 3
¥ TH 309 |1 135 6 ik T H 2 8
% TH 309 |2 166 17 # h—TH 24 2
% TH 309 |2 135 5 # PRZTH 2 7
¥ TH 309 |3 135 7 % g T H 2 9
*°TH 310 158 2 hd—TH 16 2
KTH 311 — iH
%OTH 312 — 1H
%OTH 313 — 1H
¥ °TH 314 |1 135 7 % gt T H 2 9
%-TH 314 |2 — 1H
% TH 315 1 159 11 fe—TH 17 14
% TH 315 2 166 6 * k—TH 24 10
% TH 316 134 |2 11 * k—TH 8 11
-TH 317 129 13 fl—TH 4 13
{LPAE fitSt] 7 2 215 4 # hk—TH 156 |4
{LPAE fitSt] 7 2 215 5 # hk—TH 156 5
{LPAE fitSt] 7 2 215 6 # hk—TH 156 |6
{LPAE fitSt] 7 2 215 7 # hk—TH 156 7
{LPAE fitSt] 7 2 215 8 # hk—TH 156 |Is
{LPAE it 7 2 215 9 # T TH 176 1
{LPAE it 7 2 215 10 # T TH 176 |2
Pt LitSt] 30 2 215 11 # PR TTH 176 3
Pt LitSt] 30 2 215 12 # PR TTH 176 |4
Pt A 30 2 215 13 # PR TTH 176 5
Pt st 30 2 215 14 # PR TTH 176 |6
Pt LitSt] 30 2 215 15 # PR TTH 176 7
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X 5 wa | w [ e | owe | me nr wa | # " ’
i LS} 55 215 16 ® PR ZTH 176 8
i i 55 215 17 ® PR ZTH 176 9
P HLi 55 215 18 # hRZTH 176 |10
Et i3t 79 215 2 # hR—TH 156 1
Et: (i3t 79 215 1 # hR—TH 156 |2
Et: (i3t 79 215 3 # hR—TH 156 |3
Et: THIm 1207 221 41 % T TH 175 |23
Et: THIm 1208 221 41 % T TH 175 |23
Et: T Hm 1222 221 54 il =T H 175 |22
Et THIm 1226 221 41 % T TH 175 |23
{Bs THIm 1227 221 41 % T TH 175 |23
BiA i 379 221 27 # hR—TH 155 22
BiA i 379 221 25 # hR—TH 155 23
BEiAR i 379 221 26 # hR—TH 155 |45
BiA i 380 221 24 * h—TH 155 |24
BiA i 381 221 24 * h—TH 155 |24
A i 382 221 24 * Hik—TH 155 24
BiA i 382 221 24 * h—TH 155 |24
BiA i 383 221 31 * h—TH 155 18
BiA i 384 221 30 # hR—TH 155 19
BiAR Bt 384 221 29 # hR—TH 155 20
BiAR Bt 384 221 28 # hR—TH 155 |21
BiAR Bt 385 221 31 * hle—TH 155 18
BiAR Bt 386 221 31 * hle—TH 155 18
BiAR Bt 387 221 31 * hle—TH 155 18
BiAR Bt 388 221 31 * hle—TH 155 18
BiAR Bt 393 221 31 * hle—TH 155 18
BiAR Bt 394 221 32 # hR—TH 155 17
BiA Y 394 221 33 # hk—TH 155 49
BiA i 394 221 42 # kT H 175 |5
W N Y 395 221 31 * hk—TH 155 18
BiA i 396 221 43 ik T H 175 |6
BiA i 397 221 44 # kT H 175 |7
N i 397 221 45 # R TH 175 |21
BiA i 398 221 46 * e T H 175 |20
BiA i 399 221 46 * e T H 175 |20
BiA i 400 221 46 * ik T H 175 |20
BiA i 401 221 46 * ik T H 175 |20
BiA i 402 221 46 * ik T H 175 |20
AN RIFH 76 221 46 * fRTTH 175 20
J\HT 3, RIEYE 77 — MW
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3] iy 4 i oK - m oM ¢ iy o -
X 5 waw | v | x| ok | e T ww | # " v
J\HT RFEHH, 78 — H K
J\HT I RFEHH, 81 221 46 * Ik TTH 175 20
J\HT I RFEHH, 82 221 46 * Ik TTH 175 20
R KA 87 221 53 * R TTH 175 13
J\HT 4 KA 88 221 53 * R TTH 175 13
JHT 4 KA 89 221 46 * R TTH 175 |20
JHT 4 KA 90 221 49 #PRZTH 175 17
R KA 90 221 48 #PRZTH 175 18
R KA 90 221 47 #PRTTH 175 19
R KA 91 221 52 #PRZTH 175 14
J\HT 4 KA 91 221 51 #PRZTH 175 15
R RITHR 91 221 50 # PRTTH 175 16
R RITHR 92 221 53 * R TTH 175 13
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